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Which one of the following is a reason why astronomical distances are measured in light-years?
1) Distances among stellar bodies do not change

2) Gravity of stellar bodies does not change

3) Light always travels in straight line

4) Speed of light is always same.
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If there were no phenomenon of capillarity ..............
a) it would be difficult to use a kerosene lamp
b) one would not be able to use a straw to consume a soft drink
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c) the blotting paper would fail to function

d) the big trees that we see around would not have grown on the Earth

Answer Options :

1) (a) and (b) only 2) (a) and (c) only 3) (a), (c) and (d) 4) (a), (b), (¢), (d)

gl gEHRTIER T S50 Bedy STUITARITG! WietieTdeh! Pl Hcdh HRUTT 3Td ?

37) SelagHifed fafdRur ) Yaiifere St ®) oA Je
) wic geraral! 3) g aRymor %) gedfir uRae

gt SR :
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Which of the following are responsible for bringing dynamic changes on the surface of the earth?
a) Electromagnetic radiation b) Geothermal energy

¢) Gravitational force d) Plate movements

e) Rotation of the earth f) Revolution of the earth

Answer options :

l)a,b,c,dand f 2)d and f only 3)a,b,candd only 4)b, d and e only

el Hifeame SR Tl et ST, T 3o JMTRCISTAT ATUEdT RIgidigR Wieflefddh! harmT
3TeTST TRl STl ?
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¥) faeamar Idd IR 8d e

P) U} AT THIATTRT TR —HToTAT fAIFhadid Pl

gt SR :
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Which of the following is/are the prediction/predictions of Albert Einstein’s General Theory of
Relativity, often discussed in media?

a) Light is affected by gravity.

b) The Universe is constantly expanding.

c¢) Matter warps its surrounding space-time.

Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (c¢) 4) (b) and (c) only

dicT SIRET AR AR, PR FARTR Bell STl, DR AHSD ...
9) TP AT FRTeTHENT HUhI aRdfdh & aTel.

Q) TP T 3Tt ATl FUpia YT & ared.

3) TP T ST AT AU THTE &5 HH Bl

8) dRIedeh! DIUTE! e sRISR ATar

Ball bearings are used in bicycles, cars, etc., because ............

1) the actual area of contact between the wheel and axle is increased

2) the effective area of contact between the wheel and axle is increased
3) the effective area of contact between the wheel and axle is reduced
4) None of the above statements is correct
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The known forces of nature can be divided into four classes, viz., gravity, electromagnetism,
weak nuclear force and strong nuclear force. With reference to them, which one of the following
statements is not correct?

1) Gravity is the strongest of the four

2) Electromagnetism acts only on particles with an electric charge

3) Weak nuclear force causes radioactivity

4) Strong nuclear force holds protons and neutrons inside the nucleus of an atom

" fIBRIT IR SeRRIHIeR T ST (eLISA) " ThedTdT 3531 BRI 318 ?
q) AT TR

Q) ToEg et e

3) UM SRETUT YUt TuTeitar Sneror
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What is the purpose of ‘evolved Laser Interferometer Space Antenna (eLISA)’ project?
1) To detect neutrinos

2) To detect gravitational waves

3) To detect the effectiveness of missile defence system

4) To study the effect of solar flares on our communication systems
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The surface of a lake is frozen in severe winter, but the water at its bottom is still liquid. What is
the reason?

1) Ice is a bad conductor of heat

2) Since the surface of the lake is at the same temperature as the air, no heat is lost

3) The density of water is maximum at 4°C

4) None of the statements (1), (2) and (3) given above is correct

?) SUT ggd, JIfARRUI, SIS

TSR PP, T AR 3 fosidel ST d Jeedd: ETeliefdeh! PIuT Gedhla” Jaeie 3T 2
a) SIS s &5thes b) AN dU9M  ¢) SATPUT goi

Tt S :

q) (a) 3O (b) v R) (a) 3T (c) 3) (b) 3T (c) 8) (a), (b) 3T (c)

In a pressure cooker, the temperature at which the food is cooked depends mainly upon which of
the followings?

a) Area of the hole in the lid b) Temperature of the flame c) Weight of the lid

Answer Options :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)
3) 3, oftre |, sfdensur, Srdivas
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q) (31) 3mfor (9) b 2) (31), (9) 3o (d) 3) (3), (9) 31 (3) %) (3N), (d), (), ()
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Which of the below are optical illusions?

a) Size of the sun at dusk b) Colour of the sun at dawn

¢) Moon being visible at dawn d) Twinkle of stars in the sky

e) Polestar being visible in the sky

Answer Options :

1) (a) and (b) only 2) (a), (b) and (¢) 3) (a), (b) and (d) 4) (), (b), (¢), (d)

qTerATea AR GITDRIT TSl gl SGUTST 10 2. ATATS! WTetierdeh! Iurct Hifces T RO
3TTR ?

31) ﬁfvnzr §) 3uac $) Ifaiid wfcfde
gt SR :
9) (31) Heh Q) (31) for (3) e 3) (31), () 30fr () ¥) (9) 30T (B) heh

Rainbow is produced when sunlight falls on drops of rain. Which of the following physical
phenomena are responsible for this?

a) Dispersion b) Refraction ¢) Internal reflection
Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b)and (c) 4) (b) and (c) only

ARSort Fftfefrear daeTraT Feuia Wietielie! i U aR1e” 312/ 3ed ?

37) ‘BieIglecTsa™’ ¥ U TSI 3T o UHIAd I omed) wuicR deod diet FFMior awd, TR ‘9o
Uiet’ g TFS 3TTe of AT fhRuTaT ST FHT0T SRUARNATST aTuR d_dl Sf e diof el ufshaia
R S,

) PICIRIeTEa 3feTICT PRe (318) Gode P, IR AR IHe SRRIT e (I3) Il Pl

) WRATDS SIeR UHA THHRIG! SUG SMUR 377, W hicielecsdae! g,

it S

q) (31) wh R) (8) ST () Beh - 3) (3F), () ST (&) 8) () M (F) weh

Which of the following statement is/are correct with reference to technologies for solar power

production ?

a) ‘Photovoltaics’ is a technology that generates electricity by direct conversion of light into
electricity, while ‘Solar Thermal’ is a technology that utilizes the Sun’s rays to generate heat
which is further used in electricity generation process.

b) Photovoltaics generates Alternating Current (AC), while Solar Thermal generates Direct Current
(DC).

¢) India has manufacturing base for Solar Thermal technology, but not for Photovoltaics.

Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) 4) (b) and (c) only

?) &, 3reeRIfAeRT, AFR
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3) Readehi ot / selemafes Raed

STALEITRUT ToTeied) Sfegiegriiele (UV) ot sffie o e ?

37) 2 UToTiel gl Rep ersiia (fSha v /aRe T,

9) g UIOAThel |d 3faifesd I I crandl.

%) T T P SEAIGH STeTg D, TGV Blgd Tl AT JT0ATE FIET TR

Tt S :

9) (31) 3Mfor (3) B ) (37) Fh 3) () snfor () 8) (31), (3) 3nfor ()

What is the role of ultraviolet (UV) radiation in the water purification systems?

a) It inactivates/kills the harmful microorganisms in water.

b) It removes all the undesirable odours from the water.

¢) It quickens the sedimentation of solid particles, removes turbidity and improves the clarity of
water.

Answer Options :
1) (a) and (b) only 2) (a) only 3) (b) and (¢) 4) (a), (b) and (¢)

WofleTidh! P TeT—Auft FUYUT IYHROT /AT HFe ST ?

) FANT—Wfdhe Cofifeast &) feen et MISfefthere™ &) TR alidhel URAT Scdh

it SR

q) () T (3) Bk Q) (F) 3MOr () Wb 3) (31) 3N (k) b ) (3), (3) MMM ()
CWhich of the above are considered Short-Range devices/technologies ?

a) Closed-circuit Television

b) Radio Frequency Identification

¢) Wireless Local Area Network

Answer Options :
1) (a) and (b) only 2) (b) and (c) only 3)(a) and (c) only 4) (a), (b) and (¢)

gediea aTdTaRUTciel STRMIRAIR TaTaT Ta 2R 3N AUNIr G el & 2

37) aMEiTeaT QU M3l Tgsid gedier wrad= 2.

q) A3 A RAATS WY SR 3T,

Tt S :

q) (31) Beh ?) (¥) ®h 3) (3) smfor () A=t 8) (@) fhar (9) A AR
Alayer in the Earth’s atmosphere called Ionosphere facilitates radio communication. Why ?

a) The presence of ozone causes the reflection of radio waves to Earth,

b) Radio waves have a very long wavelength.

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

HERTE IISTART ARRY HaT qauie Al : [ fasme / a¢
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(3) faRpaeRe, Jad, EMeIRE, JVjfasm—faRumeaRa

fagfdea g g
GRS
3rupfaeT - fRoneaTRar

q) faggaems g gamca

sfghue (CFL) 37for verge! (LED) feermed it wReb 3iTg ?

31) Huruemed gl o PRugRTS!, U arth ST RN aTuRell SidT ) Uolse! fear aref-
args AT aToRal.

9) ¥ihtel (CFL) @ WRRRY 3G Uetss! (LED) fewamier s 3.

%) Tetss! (LED) fewman gemia |iuwta (CFL) foar st Soii—driem a1,

qift S :

q) (3) 3T () wh ) (3N), () M (B) 3) (P) Hh 8) (31) 3mfor (<)

What is the difference between a CFL and an LED lamp “?

a) To produce light, a CFL uses mercury vapour and phosphor while an LED lamp uses semi-
conductor material.

b) The average life span of a CFL is much longer than that of an LED lamp.

c) A CFL s less energy-efficient as compared to an LED lamp.

Answer Options :
1) (b)and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

Rle—etrgfeean devfd, Wifed fQd Tess! fomiluar ame & 31red ?

a) AfSTA R 3€0 STd Haprer FHiT Rl URq Toise! o qisdid o el

b) ARl Ry U AT Reaiedr R Terse fReeaivem SR 3R,

c) T R gHgaM Tl WaeH Sidceide HshMied SRId oR Toiss! fod Ramaiel
TR A& I HRIS ST,

gt SR :

q) (a) 31T (b) Bh ) (a) 3O (c) 3) (b) 3T () 8) (a), (b) 3T (c)

With reference to street-lighting, how do sodium lamps differ from LED lamps?

a) Sodium Lamps produce light in 360 degrees but it is not so in the case of LED lamps.

b) As street-lights, sodium lamps have longer life span than LED lamps.

c¢) The spectrum of visible light from sodium lamps is almost monochromatic while LED lamps
offer significant colour advantages in street-lighting.

Answer Options :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

RIS 3R fhrt /Aehg I YAt ORI a1l dhelel o1 Gl YSHATR dIgracd_
ST THRYO g AIgg, SrehdTd. T G YSHITER UIgrkudTiRyg o Uiefid o ?

q) G DT & AT YaThs da]

?) gediHIadar SMSIaT eR T WRA RIS WRiafcrd d=al

3) TIATERUITEAT a1 RIS ST T Jeafiea] JEHNER JVATIRIT IJRact

8) R fetet faur (9), () ST (3) HHY Piowe sRIR

HERTY ST ARRY a1 GIuRien ARl : 9 f{3s / 9]
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Electrically charged particles from space travelling at speeds of several hundred km/sec can

severely harm living beings if they reach the surface of the Earth. What prevents them from

reaching the surface of the Earth?

1) The Earth’s magnetic field diverts them towards its poles

2) Ozone layer around the Earth reflects them back to outer space

3) Moisture in the upper layers of atmosphere prevents them from reaching the surface of the
Earth

4) None of the statements (1), (2) and (3) given above is correct

) WAMRA

TR AT LfeTehe] AT PRI Heh 3TTR 2

37) IR ¢ e WedIes U 3MTed, R Y ¢ WShIcd SN UTea yarif=t Ueha Saciedn a arfcrer
Maeled Jfawclie AR selel ST,

9) TR T P 6 ST FISrA] HEHe e, TR YHd, 9gde I M gU Jreamed
JAHleoddld.

&) YD GIIHM IHPUIN! AUCT 3R, TR TGIE ot ¥l

Tt S :

9) (31) SMfor (F) Heh - ) (31) AT () 3) () 3nfor () 8) (31), (3) anfor ()

What is the difference between asteroids and comets ?

a) Asteroids are small rocky planetoids, while comets are formed of very frozen gases held
together by rocky and metallic material.

b) Asteroids are-found mostly between the orbits of Jupiter and Mars, while comets are found
mostly between Venus and Mercury.

c) Comets show a perceptible glowing tail, while asteroids do not.

Answer Options :
1) (a)and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

gefiHIgcl fORRUIRT $i3H SR Wiell 9sd ARl § 3 8K, PRI Yeaid STThN ........
9) AT JARTAR I ATal.

R) TGTAT TPV TCEY Bl

3) AT FRR MRS a9 et UM PRl

) AT BTSSRI YT UM bRl

An artificial satellite orbiting around & Earth does not fall down. This is so because the attraction
of Earth .......

1) does not exist at such distance

2) is neutralized by the attraction of the moon

3) provides the necessary speed for its steady motion

4) provides the necessary acceleration for its motion

MeSiaiad s’ & Tl ........ <iefd s=ITaer SIaRme ufgedt S
q) YedieaT JSHTITAT R XTEUIRINT &5TedT Hafar

Q) TR GBIl GedRIRZT TEFT JMTctel Ueer

3) STRT IAHIAT YR g oy

8) HIeTd U 3cied] ST SUul

HERTY IISTART ARRY HaT gausie Al : g fasme / 0
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The term ‘Goldilocks Zone’ is often seen in the news in the context of
1) the limits of habitable zone above the surface of the Earth

2) regions inside the Earth-like planets in outer space

3) search for the Earth-like planets in outer space

4) search for meteorites containing precious metals

faearear fFRAR fOARIATEH STRAST WiefieTidh! U GRTaT/UR1aT T80 IGd hell 38 ?

37) IicRIIc e HIIghldeg IMerur ¥) ARSI YSfFe gera e
&) SIRI®T AGIRT glerdTel ) SRR FoRAe FhICHE! TeT
IR SR :

q) (1) 3mfor () weh ) (B) 37T (%)

3) (3) Bh 8) RIAUeh! DIUTEl GRId TG IGd et SIS b ATal

Which of the following is/are cited by the scientists as evidence/evidences for the continued
expansion of universe?

a) Detection of microwaves in space b) Observation of redshift phenom-enon in space
¢) Movement of asteroids in space d) Occurrence of supernova explosions in space
Answer Options :

1) (a) and (b) only 2)(c)and (d)

3) (b) only 4) None of the above can be cited as evidence

'Seec gRISH, RRgeiRe, & RisRl’ onftT '¥oee Aledt’ AT el PRl S e
f&ama.

q) faeare FRiemor ofor sfee R) G S TR IR

3) gedieT Had SuUg Ao %) gedlaRier |iiarat Scdd ST Sehich

The terms ‘Event Horizon’, ‘Singularity’, " String Theory’ and ‘Standard Model” are sometimes
seen in the news in the context of

1) Observation and understanding of the Universe

2) Study of the solar and the lunar eclipses

3) Placing satellites in the orbit of the Earth

4) Origin and evolution of living organisms on the Earth

QTSI JRATIRIT STeoTaelt Tehleray ¥ SRTeled] el ‘seichalel o fdeti=ien<ur UTiget. AT e
HE PRI 3TE 2

q) ‘f&T I HUT ATISe.

R) T ol TSl

3) (3) ‘TR gR FR-Telfded RIS YarIrdt aTarer &t siet.

8) ATHeS ARG "Tehere HHS] 2Teher.

Recently, scientists observed the merger of giant ‘blackholes’ billions of light-years away from
the Earth. What is the significance of this observation?

1) ‘Higgs boson particles’ were detected.

2) ‘Gravitational waves’ were detected.

3) (e) Possibility of inter-galactic space travel through ‘wormhole’ was confirmed.

4) It enabled the scientists to understand ‘singularity’.

HERTE IISTUFT ARRY AT qaukia At - e fasm / 29
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SiE TR AT S IRRRTE IR HEST MU FerHa S0 AT, T AT TR0 DRI 3
STl ?

31) NI SRR PIvce! & fohar groamdt arh -

) WIerdT eI RRIRAEY DRl $ed aR T,

gt SR :

9) (31) b 2) () B 3) (3N) MM (F) = ) () fber (@) Sy Ty

The jet aircrafts fly very easily and smoothly in the lower stratosphere. What could be the
appropriate explanation ?

a) There are no clouds or water vapour in the lower stratosphere.

b) There are no vertical winds in the lower stratosphere.

Answer Options :
1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

GlefieTidh! Pt I SRR 31ed /3med ?

37) gl Yahid &3 SR Pal oG auil Ietcat 37Te.

§) gooo GaTeTer JugdT geaieht Mttt sTeft el T Y8 % STfador gIaT ST Ple SRISTTATSS Tegdl.

&) Siegl Fofiardl It el degl il G Joariieal JIeRuNG deal .

gt SR :

9) (ar) amfdr () o R) (31) ST () 3) (3) smfor (<) 8) (31), (¥) 3T ()

Which of the following statements is/are correct?

a) The Earth’s magnetic field has reversed every few hundred thousand years.

b) When the Earth was created more than 4000 million years ago, there was 54% oxygen and no
carbon dioxide.

c) When living organisms originated, they modified the early atmosphere of the Earth.

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

3) uffasT - faRuTcaTRar
&1 ST I 31T AYUATd TRIT Siefidhe el el dRAR dIqeT §el 3MTed. & Ul NUudT
ngw@ /Hed P 3R /3N ?
31) T PUITHE aRGAT BT 3 g FHS ORI ¢ STUcTeT He e,
q) g Toilepeal JiIsIa Srglell Qamdie Wifies ST 9 ST GepT fiqurgT gaat foghs gviaRd

IROIT T AT aRUIRT & o

&) g SRS MfRISTAS! TiTel U TIR FRUAT F&H .
qift S :
q) (&) ST (3) ®h ) (8N) SMT () 3) (3) Sfr () 8) (1), (@) 3o ()
The efforts to detect the existence of Higgs boson particle have become frequent news in the
recent past. What is/are the importance/importances of discovering this particle?

HERTE IISTART ARRY HaT qauie Al : [ fasme /
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a) It will enable us to understand as to why elementary particles have mass.

b) It will enable us in the near future to develop the technology of transferring matter from one
point to another without traversing the physical space between them.

¢) It will enable us to create better fuels for nuclear fission.

Answer Options :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)
JHET ST U B ... 3.

q) I T PHHT PRI R) AT N e

3) SHS! U PRI ) 3nfoaeds ufcfshar erisaur

The function of heavy water in a nuclear reactor is to ........

1) Slow down the speed of neutrons 2) Increase the speed of neutrons

3) Cool down the reactor 4) Stop the nuclear reaction

T ATGUTRY Jrord! HFTUR U FRUITATST ARG 3TU[Sord HTSITie] $U FgUT ATRIHER HeTes 3Tfor

fdepT heTl UTfRST SRT PIE AT Mg, IT FSHTd, NRIwaT RIS PIvIT HIST 8l ?

37) e g ZRFUe RIS T 371R.

9) IET heled WiHSTAT TR AT RGHFTAT SMURTER AR ~filds IR Jofrid SR ol
0T %5 Qrepdl.

&) ARIT AT qeria I GIBRD daxt FHEfor vl

Tt S :

9) (31) Heh R) () amfor () &k 3) (31), () MU (P) %) () M (F) Fch

To meet its rapidly growing energy demand, some opine that India should pursue research and

development on thorium as the future fuel of nuclear energy. In this context, what advantage does

thorium hold over uranium?

a) Thorium is far more abundant in nature than uranium.

b) On the basis of per unit mass of mined mineral, thorium can generate more energy compared
to natural uranium.

¢) Thorium produces less harmful waste compared to uranium.

Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (c¢) 4) (b) and (c) only

HERTE IISTUT ARRY AT qauia At : e fasm / 23
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() 3T ARUT, Jelged g IR

e AR

STUREHT g R0

g, G g fAsror
q) e AR
3) STURTE T X

3) Jelged, W G Ao
geefieRict STIagEredT SWOINTG! Qletiefdeh! I Tedh AT STTEQR gl ?

9) gRIGSH, Sffaae, Afeam Q) P, EIGSH, RGN
3) 3fifraoi, BRI, BT ) PE, BRIG, TRy

Which one of the following sets of elements was primarily responsible for the origin of life on
the Earth?

1) Hydrogen, Oxygen, Sodium 2) Carbon, Hydrogen, Nitrogen

3) Oxygen, Calcium, Phosphorus 4) Carbon, Hydrogen, Potassium

RgTeAerdehl v TTHeY ARIGSH. s/ STsd 2

37) SERIGR GRAT IHT

¥) HIURATER o5 STTos0T

) FIATET g,

Tt S :

q) (@) amfr (@) B R) (31), () 3 (®) 3) (P) Feh 8) (31) 3or ()
Which of the following adds/add nitrogen to the soil?

a) Excretion of urea by animals

b) Burning of coal by man

c) Death of vegetation

Answer Options :
1) (b) and (c) only 2) (a), (b) and (c) 3) (c) only 4) (a) and (¢)

HERTE IISTAFT ARRY a1 qaukia At : e fasm / 2w
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(4) SHfeA TR T — 4T, M, &R, UM, I”], Td

YT TFOT STEIT,
&R

$U 9 a1, @A
wgeard! G

q) T 3ATfOr 31T

farerreaT favaTer | Ry 3d ?

31) WfecT g ) U 37Ifdr e

®) U 3) P dol MT Aieduresy
Tt SR

q) (31), (@) 3nfor () Peh R) (3r) 3nfor () weh

3) () 3nfor (3) weh 8) (31), (@), (P) for ()

Lead, ingested or inhaled, is a health hazard. After the addition of lead to petrol has been banned,
what still are the sources of lead poisoning?

a) Smelting units b) Pens and pencils

¢) Paints d) Hair oils and cosmetics

Answer Options :

1) (a), (b) and (c) only 2)(a)and (c) only 3) (b) and (d) only 4)(a), (b), (c) and (d)

ST 37T ATeR et FvTehie fohdT T AR SR/ 3Raes fdegdlc Adednges, Wietietudh! PIurd
$— PRI QU GITERONT SlSel. ST 2

3r) IRkferay ¥) bt ®) I 3) TR
3) URT %) I T) el H

IR SR :

9) §, 8, S M T ) 31, §, P, 3 MM & Heh

3) 9, & amfor T ek g) o, §, § M1 & Tch

Due to improper/indiscriminate disposal of old and used computers or their parts, which of the
following are released into the environment as e-waste?

a) Beryllium b) Cadmium ¢) Chromium d) Heptachlor

e) Mercury f) Lead g) Plutonium

Answer options :

I)b,c,d,eand g 2)a,b,c,eandfonly 3)b,candgonly 4)a,b,dand fonly
) &R
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3) UM @ 9, &
"Pletds W' ST ‘I T AT I SURUND Foll BT FeHd, @leflel AU faaRme =i,
TeAertdhl PIv U SRISR 3R/ 3med 2
37) Pl AL BT DI HHTYT Plecll STURT G AT TR Mg, TR A arg_ gl WU MfoT e
I ST 37TR S haes IR MBI WSHITYT DIl SITS» e,
) AR Plctae T gaeie S ARI@d 3led, IR STemuwid e 1 Hivel Aid ddseiet

SINSE
it SR

9) (31) Heh ) (§) Bh
3) Qar (31) By () 8) (a1) fhar (3) Sgret -l

With reference to two non-conventional energy sources called ‘coalbed methane’ and ‘shale gas’,

consider the following statements. Which of the following statement is/are correct ?

a) Coalbed methane is the pure methane gas extracted from coal seams, while shale gas is a
mixture of propane and butane only that can be extracted from fine-grained sedimentary rocks.

b) InIndia, abundant coalbed methane sources exist, but so far no shale gas sources have been
found.

Answer Options :

1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

PIGBATT SUT U IR Bor] AT DGR Iwlad T el Heid, Wiefletueh! pior faum
RIR 3718/ 3T ?

37) TR ST AR ARG SihIRATS! fIeiedT SaTeATd dhell ST, ATdhdl

¥) PihlcT Pral Uicels RiHe AFINTS Feird 3T aToR hell ST A1)

&) TR 312 ch RAfeTep SIaTags O] ik SaISeuRIT Selell SR SM0T T PIUIE!
9Nt Ted .
g IR :

q) (31) 3Mfr (3) B Q) (31) AT () 3) () snfor () 8) (31), (3) anfor ()

With reference to ‘fly ash’ produced by the power plants using the coal as fuel, which of the

following statements is/are correct?

a) Fly ash can be used in the production of bricks for building construction

b) Fly ash can be used as a replacement for some of the Portland cement contents of concrete

c¢) Fly ash is made up of silicon dioxide and calcium oxide only, and does not contain any toxic
elements.

Answer Options :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

S RGN g 3UH N Siifavde diet fAffdISt araRen S, otem ‘SuM ueft’ dewfd

GTefleTddh! P /ot faem /= sRIsR 31ed /3med ?

31) SR g% FIGSTET AR U FgUT el el TR, SUT Al SSTT SATOT uroft Iu-IedTe 7gUlT Scafoid
P

¥) ofICIoIRT BicdT SYDRUINTS! g R SHRAT Soil TS 349 Aol IraRdT AdTd

P) 389 Ut Sreefen e (TH)) wwurd IS TR HRard.
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it S
q) (1) Fh ?) (a1) =fr () Feh
3) (31), (&) 3for () 8) () 371 () Heh

With reference to ‘fuel cells’ in which hydrogen-rich fuel and oxygen are used to generate
electricity, which of the following statements are correct?

a) If pure hydrogen is used as a fuel, the fuel cell emits heat and water as by-products.

b) Fuel cells can be used for powering buildings and not for small devices like laptop

c¢) Fuel cells produce electricity in the form of Alternating Current (AC).

Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

ST ATEdehI STt 36 U gge—-a96 CNG (H-CNG) arRur=a] YRRl AGHTd,
At Pior /<t UM /= aRIsR 3Med /3 ?

37) G- IR G BRIGT FgUSl e AMISaRISs SIS € PRUl,

¥) H-CNG U U Bl SRS AT FRIGDE S0 DHT el

&) ERIISITA JHIUT Ueh GHTe R SRT0! 39 U Sk e il STes 2.

$) H-CNG 389 CNG UaT 4l @fieh .

gt SR :

q) (1) ST (3) Hch ) () AT () 3) () smfor () 8) (31), (3) amfor ()
In the context of proposals to the use of hydrogen-enriched CNG (H-CNG) as fuel for buses in
public transport, which of the following statements are correct?

a) The main advantage of the use of H-CNG is the elimination of carbon monoxide emissions.
b) H-CNG as fuel reduces carbon dioxide and hydrocarbon emissions.

c¢) Hydrogen up to one-fifth by volume can be blended with CNG as fuel for buses.

d) H-CNG makes the fuel less expensive than CNG.

Answer Options :
1) (a) and (b) only 2)(a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

) TEcardt agi
qToft SR PIVATE SATIET STR Uqref foREesq aehd BRI ...

q) T oy wawur armg R) O IWAT Tl dATEH 3N

3) | e IwcR e 39 a8 8) d ERIGSIT SaRIES 3Me
Water can dissolve more substances than any other liquid because .................
1) it is dipolar in nature 2) itis a good conductor of heat
3) it has high value of specific heat 4) it is an oxide of hydrogen

"TRIFART, T I UTTRAT AUDIT Gel BIes Jeed™ o gBRD Al ST, WTefietdh! hanme
T YT Fafd SR 3R ?

9) 3 TARED Q) B fipauR ugref

3) ARG 3RTelel e e ¥) SRR At
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‘Triclosan’, considered harmful when exposed to high levels for a long time, is most likely present
in which of the following?

1) Food preservatives 2) Fruit-ripening substances
3) Reused plastic containers 4) Toiletries
et P ST ISR Toseft /3R ?

AT IR / STUNT STIUTR ATfEed 0T T Fh 3RTelel! fahaT ATy IR—IA ATISUATe TRl
ame

1) foufes Iy

¥) are f$m s 9fidTer dot

®) IS BRT B AMRITSIH GeHE

Tt SR

q) () 3oy () weh  R) (), (9) 37 (&) 3) (B) Beh ®) (31) 3nfor ()

Which of the pairs given below is/are correctly matched?

Commonly used / consumed materials and Unwanted or controversial chemicals likely to
be found in them

a) Lipstick Lead

b) Soft drinks Brominated vegetable oils

¢) Chinese fast food Monosodium glutamate

Answer Options :

1) (b) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

() YRR BRI, Sel— alcdhel, Mifed RIRFIRA

IR srffasar
3Tt JATFOT 3reehett
T TR - FRIGDHIE, HleH1erd
q) IS Srffehar
GTATAIDT DI IS TSATT SSTERVT /ISR 31T ?
37) AT FARTEST ThiCHIARUT. ¥) 9% fadeeur ) Y AU,
IR SR :
q) () 31T (&) ®eh ) (31), () SN (F)  3) () Feh 8) (1) 3Mfdr ()
Which of the following is/are the example/examples of chemical change?
a) Crystallization of sodium chloride. b) Melting of ice ¢) Souring of milk.
Answer Options :
1) (b)and (c) only 2) (a), (b) and (c) 3) (c) only 4) (a) and (¢)
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Q) 3Tt 3fOr 3Te<hett

3) ST IR - BRIP4, Pich19Th

FARIFIRIDPIIT, ST AT~ I8eT PRUR ugrel U 3fieswel S, AORel ST ........

37) wries wrge e q) cYFe TR ST
P) PlEl Foldgl-d gcdh ATh IRA] ) Wil HAHed G719 STUIR ¢ U
qif SR :

q) (81) SN (9) ) (31), (@) M (D) 3) (30), (@) 3 () ) (3), (), (®), ()
Chlorofluorocarbons, known as ozone-depleting substances, are used ........

a) in the production of plastic foams b) in the production of tubeless tyres

¢) in cleaning certain electronic components d) as pressurizing agents in aerosol cans
Answer Options :

1) (a) and (b) only 2) (a), (b) and (c) 3) (), (c) and (d) 4) (a), (b), (c), (d)

ITHF 3rcfidps IRAR ITRIHE 3. I e P ?

a7) & Rt el e SRy wie few T o,

q) g SNAd aravlt dhefed] Hald e URq ASIgd ATRITUDT Th 8Te.

%) g OIu Rifelenid aielel 3T 37T I Siifcehel URGeedT 37T,

) ¢ T9 BhiH, ToRiS! ST AfcT TeTseikle! SRS 3M¥clel ‘Hefact geidgs UL daTiRe ST
STl

Tt W :

q) (81) SN (F) Hh ) (31), () A () 3) (3), ()M (3) 8) (3), (%), (®), ()

Graphene is frequently in news recently. What is its importance?

a) Itis a two-dimensional material and has good electrical conductivity.

b) It is one of the thinnest but strongest materials tested so far.

c) It is entirely made of silicon and has high optical transparency.

d) It can be used as ‘conducting electrodes’ required for touch screens, LCDs and organic LEDs.

Answer Options :
1) (a) and (b) only 2) (a), (b) and (d) 3) (a), (c) and (d) 4) (), (b), (¢), (d)

XgTefiertih! P fAU BIe BiCAIaM o FafaH quH aRd ?

q) IIAERVIIA P S IS AT TS JTd! a1e aredd

R) AR P SHITASSHT dTEd biiages G Ao ared

3) ARV P SR JNaaTsseT ded (eHiies HEITRIE! dleetel! Tl

8) gediakie d TSiiaid ardeRvTciel geetiell e Bol. aTdeaRvd S S JMaesd dred HHiT

Which of the following statement best describes “carbon fertilization”?

1) Increased plant growth due to increased concentration of carbon dioxide in the atmosphere

2) Increased temperature of Earth due to increased concentration of carbon dioxide in the
atmosphere
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3) Increased acidity of oceans as a result of increased concentration of carbon dioxide in the
atmosphere

4) Adaptation of all living beings on Earth to the climate change brought about by. The increased
concentration of carbon dioxide in the atmosphere

ST (BPA) arRETeae e HRUT U JTURT IR I0R WAIRCa. ETefiatueh! ot
ThRAT wRehel Mifdae Iehdid 8 T SRa-Tcid /9% °ch 3ME ?

9) P g dietifref| Q) Tlelt pEHE
3) Uffarfrels Sellvareie ¥) Ui Iser TeRES

Bisphenol A (BPA), a cause of concern, is a structural/key component in the manufacture of
which of the following kind of plastic?

1) Low-density polyethylene 2) Polycarbonate

3) Polyethylene telephthalate 4) Polyvinyl chloride

IR AT ?

3T) SNPR STOT T TR HSTIT PRUITAIST T AR T fAFasel ST QTebelTel.

§) IR ddeiel PR PIUKTel SchIEIcrgth U AGIVITITS! aTdRel STTes 2Tehdd.
%) ITIRLT Sdeied] S1CedT SR IUTCTHES JHaTuR HedT ST, el

) IR SHacied] IRl 3RIFRIGR, BRATE AR IAviT T dRal, ol fdegdie daet! ST
NEit

Tt S :

9) (a1) ST () ?) (3) sy (3) 3) (an)-for (3) 8) (@) Mfor ()

With reference to polyethylene terephthalate, the use of which is so widespread in our daily

lives, which of the following statements are correct?

a) Its fibres can be blended with wool and cotton fibres to reinforce their properties.

b) Containers made of it can be used to store any alcoholic beverage.

c¢) Bottles made of it can be recycled into other products.

d) Articles made of it can be easily disposed of by incineration without causing greenhouse gas
emmisions.

Answer Options :
1) (a) and (c) 2) (b) and (d) 3) (a) and (d) 4) (b) and (c)

HERTE IISTART ARRY HaT qauie aralt : g fasme / 30



?)
3)

)

1)

Q)

2)

3)

For Private Circulation Only

(19) U= 9 =TI=R—E

Yefifas - veft g
FATITI — ATfRALERTT

SIS ~STg®, IREA d Qe
IhIcH - GEISIa

q) Uehifdsm= - usht ges

Tefierdeh! pIoTeht faerm e Mfor wroft defielie AT e I 37Ted ?

37) et Uefined Aegeirst Het il SRIcTd R Tmuiea Uelt TRAaT.

) gRciiean veiied) wersAT frgt wRadra S umoft veft R

&) Ui I Hemed U HI0 el 3 d o) 0T YeiHed 3 ol eadel ST,
it S :

9) Wheh 37 37T § ) § 3701 & heh 3) 37 3701 & Heh g) o, § 31 &
Which of the following statements are correct regarding the general difference between plant
and animal cells?

a) Plant cells have cellulose cell walls whilst animal cells do not.

b) Plant cells do not have plasma membrane unlike animal cells which do.

c) Mature plant cell has one large vacuole whilst animal cell has many small vacuoles.
Answer Options :

1)aand b only 2) b and c only 3) aand c only 4)a,bandc

wH A’ =T Feuld, aRIR IIT=IiHEY, @ietlei! DI UM aRisR 31/ 37ed ?

37) ¥H Uelt e AT ORI fHe, 1.

g) T Siverer qURUiKTST e Ueiiar aiuR dhedT ST, 9Tl

P) weq Ul STh SUTRIIS! dTaRedT S, 2ThdTd.

gt SR :

9) (@) ST (B) Bh  R) (31), () M (F) 3) () Feh 8) (37) Sffor ()

With reference to ‘stem cells’, frequently in the news, which of the following statements is/are
correct?

a) Stem cells can be derived from mammals only.

b) Stem cells can be used for screening new drugs.

c¢) Stem cells can be used for medical therapies.
Answer Options :

1) (b) and (c) only 2) (a), (b) and (c) 3) (c) only 4) (a) and (¢)
fauTo] FshfHd P ABAI.........

37) dachan ) Rt &) gt

it S :

9) (31) 3T (9) Beh Q) (31) 3" (B) Wb 3) (F) 3T (P) 8) (31), () 3fr ()
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Viruses can infect ..........

a) bacteria b) fungi ¢) plants
Answer Options :
1) (a) and (b) only 2) (a) and (c) only 3) (b) and (¢) 4) (a), (b), (¢)

GTefietid! P /dt faem= /3 sRisR 31ed /3med ?

37) Telt UTetehrea 3Tt fehar gepTudT Hcl eAvum=am Uslived) STaiRies Ieat geqT 3MMUTel SIS AehaTd.

9) T AT S SIFHTE! Yo7 JTavdd AuTfad el ST STed.

% PRI THIHE A UG Ruice weA Ul Sredt S e

gt SR :

9) %h 31 ) § 3701 P heh 3) 9 %Beh ¥) o, § 3 &

Which of the statements given below is/are correct ?

a) Genetic changes can be introduced in the cells that produce eggs or sperms of a prospective
parent.

b) A person’s genome can be edited before birth at the early embryonic stage.

¢) Human induced pluripotent stem cells can be injected into the embryo of a pig.

Answer Options :
1) aonly 2)bandc only 3) b only 4)a,bandc

Q) TRITI=IA — HTfeRIgeRT
GTefieTidh! DIt fem SRR 31ed /3med ?
37) fouTueR Fwit TS SMaedes UstigH R,
q) STy PIUTRTE HHEH AT FIUT Dol SRS Al
o) faSTu] Tept SHaT gt Sfiard dhde Sifdh JaexgR SRATRE el ST
gt SR :
9) (@) ST () B ) (31), () M (F) 3) () Fh 8) (37) Mfor ()
Which of the following statements is/are correct?
a) Viruses lack enzymes necessary for the generation of energy.
b) Viruses can be cultured in any synthetic medium.
¢) Viruses are transmitted from one organism to another by biological vectors only

Answer Options :
1) (b) and (c) only 2) (a), (b) and (c) 3) (a) only 4) (a) and (¢)

Hi /RGAfed dTead Wieflefddh! dHemd Faei Fel SITSs a1 ?

31) daeRaT ) Rl %) fammop

qift S :

q) (a) 31T (b) Bh ) (a) MM (c) 3) (b) 3T (c) 8) (a), (b) 37T (c)
Which of the below can be cultured in artificial/synthetic medium?

a) Bacteria b) Fungi c¢) Virus

Answer Options :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)
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3) SiaaAE — SP, VRIA G it
Repifrerie Svu daee (SHfes sfofeiRi) 2 ... ST gAIARd PRUITE WA 2.
31) g fafdyr uoTdiae
9) UIOAURLT aRdclimedt
&) GeFeld o I Samed
Tt S :
9) (31) 3T (F) B Q) (1) AT () 3) () nfor () 8) (31), (3) 3nfor ()
Recombinant DNA technology (Genetic Engineering) allows genes to be transferred .........
a) across different species of plants
b) from animals to plants
¢) from microorganisma to higher organisms

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

SITTY AREDIST & Ueh AU 3R, 2Mehel:

31) g fohaT TTUATE Y AT,

¥) ThaARET o= IS HEd thidh ).

P) UlhAT heledl WEUSHR Jraifesd woft fohar amudt Al afsur.

Tt SR :

9) (31) Teh R) (P) wh 3) (1) =mfor (3) 8) () SMfor ()
DNA Barcoding can be a tool to ......

a) assess the age of a plant or animal.

b) distinguish among species that look alike.

c) identify undesirable animal or plant materials in processed foods.

Answer Options :
1) (a) only 2) (c) only 3) (a) and (b) 4) (b) and (¢)

fasTTclel Srefireear TeMISeal ASHId Wetled! PDIvK faU aRIeR el ?

q) fafdy geTrchiearelieg edeiean ST WeHT Siigd PRIGID TR IR el SIS T
R) WML HHF BAHD ST s TIR Dl STSs b,

3) TTuITRAT Ui Pieeicd SIgAvET gepel o efiea STex TINTeIesd JaR hRal A,

8) IR STIOT UTOHeT Placiedt U1 TINmemesdiet Ut feerTed Ueft o swar 2.

With reference to the recent developments in science, which one of the following statements is

not correct?

1) Functional chromosomes can be created by joining segments of DNA taken from cells of
different species.

2) Pieces of artificial functional DNA can be created in laboratories.

3) A piece of DNA taken out from an animal cell can be made to replicate outside a living cell in
a laboratory.

4) Cells taken out from plants and animals can be made to undergo cell division in laboratory

petri dishes.
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SIRETST TURIATERIG STepidl! fehaT ST SFshATel Hisvlt febar HTver w3 % erbdTd. AT STl
JMIITAT BT BRIST Bl ?

37) YYUFTE GeITdes STIUE EUr 9 .

) |d AT A DR FAST G0 R 37TR.

P) MRS UUATAT ST] [IpRia axor 9 3.

gt SR :

9) (@) ST (&) ®H  2) (30), () M (&) 3) () Fh 8) (1) amfor ()

At present, scientists can determine the arrangement or relative positions of genes or DNA
sequences on a chromosome. How does this knowledge benefit us?

a) It is possible to know the pedigree of livestock.

b) It is possible to understand the causes of all human diseases.

c) It is possible to develop disease-resistant animal breeds.

Answer Options :
1) (b) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

ARIPRITSE SRICHISTEl AR R Seied] JAUaRITE Fad BRUIRIS! bell el 38 BRI
TRIPRITST GRYAAT ... IR FEH R4

37) GSepTeETaT HicTpR T STTOT 2AMSeh & arear

¥) duet HHTT FET BT

&) TET AIGHTT IRGul

Tt SR :

q) (31) ST (F) Fch ) (31) S (P) Fh 3) (9) Fh 8) (31), (@), ()
Mycorrhizal biotechnology has been used in rehabilitating degraded sites because mycorrhiza
enables the plants to ............

a) resist drought and increase absorptive area

b) tolerate extremes of pH

¢) resist disease infestation

Answer Options :
1) (a) and (b) only 2) (a) and (c) only 3) (b) only 4) (a), (b), (¢c)

ST 3MDe] SITRITHE ISP Pbedl ST, d B — { W U BRI ?
q) e S FUTGHTT dTIReiel! ATf0qes it

R) TRIRIRR N9 BT 3Fgd MRS IR STl

3) U ST o GRUHT e -HiRILD ad

8) STaifrrgEa guTRd it Yt T qumTes aaref

What is Cas9 protein that is often mentioned in news?

1) A molecular scissors used in targeted gene editing

2) A biosensor used in the accurate detection of pathogens in patients
3) A gene that makes plants pest-resistant

4) A herbicidal substance synthesized in genetically modified crops
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‘RNA g&189 (RN-1)" T 1T Hlat auid bR fesdett 3. &7
37) 8 S AR ORUt fpRid sRugmITet amaRer ST,
¥) HIRNTAT SUTRIETS! fIRId SUTRMED Il aTR Bl SRS bl
P) g gHH Reoigtic ORM fIhRIa aRuIRITES! aTRer SR, Ted.
3) fauTUSr BT URIU® 3RieiedT Ui amwdcdiear MRS amar amoR el ST, el
i SR :
q) (87) ST (F) W ) (31), (F) M (®) 3) (30), (@) 3 () 8) (30), (@), (®), ()
‘RNA interference (RNA1)’ technology has gained popularity in the last few years. Why?
a) Itis used in developing gene silencing therapies.
b) It can be used in developing therapies for-the treatment of cancer.
¢) It can be used to develop hormone replacement therapies.
d) It can be used to produce crop plants that are resistant to viral pathogens.

Answer Options :

1) (a) and (b) only 2) (a), (b) and (d) 3) (), (¢) and (d) 4) (a), (b), (c), (d)
TRghRA el TeMisar deuid, ‘Iafhem’ & IS Piedel SIqRIiHed oy, amar e
........ 3.

9) ST HUTGHTT aTRedT SO USigadt Sioft

R) STATGR ek et mRNA XU wquf 2oft

3) ST Sff¥erhied] Ju aufs

g) Ui gIUM=T S SaRad-rd JHA0T

In the context of the developments in Bioinformatics, the term ‘transcriptome’, sometimes seen
in the news, refers to ........

1) arange of enzymes used in genome editing

2) the full range of mRNA molecules expressed by an organism

3) the description of the mechanism of gene expression
4) amechanism of genetic mutations taking place in cells

Tpuef gl SMUTRA SIS IR aRUl Aa 37Tg, Wy I ISR dlerl Suars! faemaeiia

ST XTI HTe] BRI TR/ 3ATee ?

37) daret MR SIgUAT SeUTe dhaes FHGI A9 g 3T WeieR Te,

q) Tepuef gl SMUTRA StagU ScTeATdT FATIAT A0TSR FRuIRITS! Jive™ quf giswid
I UTdSIeRIA DIeTed /T 3Ta%Tdh 3R,

%) APET RaER] SUTGARIC! HIGHT JHIVNER JAUTE AT PRUT SATGFID 3ATg SIS TR
ST AT fIlT a1 2rehdTal.

Tt S :

q) (1) 3T () B Q) (3) AN () 3) (@) 3for () 8) (31), (&) smfor ()

It is possible to produce algae based biofuels, but what is/are the likely limitation(s) of developing

countries in promoting this industry?

a) Production of algae based biofuels is possible in seas only and not on continents.

b) Setting up and engineering the algae based biofuel production requires high level of expertise/
technology until the construction is completed.

c) Economically viable production necessitates the setting up of large scale facilities which may
raise ecological and social concerns.
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Answer Options :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)
¥) ISPt — &SI
GTefieTidh! PIAT Tl Saiedn Iapidiar IRUMH STl ITTaT ?
37) HRIGUII Ydrg
q) feadt =sh
Tt SR
q) (31) ®h ?) (¥) &h 3) agl (31) amfor (9) ) (&) fobarr () Arelal el

Which of the following phenomena might have influenced the evolution of organisms?
a) Continental drift
b) Glacial cycles

Answer Options :
1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

IR SEIRIRIT FHTd, @ielielueh! DIVl UbRY Sild faafed aRuR Sia/Sfta wgud
3fesegel ST ?

1) BRRE ) Reft ®) SR

it S :

q) (1) ST () B Q) (37) ST () 3) (@) for () 8) (31), (&) snfor ()
With reference to the food chains in ecosystems, which of the following kinds of organism is/are
known as decomposer organism/organisms?

a) Virus b) Fungi c) Bacteria
Answer Options :
1) (a) and (b) only 2) (a) and (c) 3) (b) and (c) 4) (a), (b) and (¢)

(¢) T fieRuT STIfoT SeTExul, Tit sRRRAsTH
U RTehRT
<itfiuTg, ggor, edhrad!, rdysdeita umoft
T, IHITR, TIRIT
gef}, == mvoft
U SRR T TRATIaa
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q) YOGS FFTeRRT
?) 3nfesia, WS, STeTer Hoht
et PIAT TSIl SR Foiiaisht Fgoiiar Fael YL P Iehdld ?
a) P b) Reft DRIEEIE
Tt SR
q) (a) 3T (b) b ?) (a) 3T () 3) (b) 3o (c) 8) (a), (b) 3T (c)

Which of the following have species that can establish symbiotic relationship with other
organisms?

a) Cnidarians b) Fungi c¢) Protozoa

Select the correct answer using the code given below:

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)
3) I9SHHL, MG, Tedifdse UTof

¥) WefUTg, Yo, hedhreml, JrHysasit gt
gTefiet Sfiartht o Sfia 3aR R afar -8t ?

9) WSl Q) WIS 3) fag %) FURIER
Among the following organisms, which one of does not belong to the class of other three?
1) Crab 2) Mite 3) Scorpion 4) Spider
Wofleddh! DI fheex Hiew 38 ?
q) Defthear ?) e 3) STRR 8) ufer
Which one of the following is a filter feeder?
1) Catfish 2) Octopus 3) Oyster 4) Pelican
Y) AR, SUIER, WRIGT

RGTefleTdeh! IoAT WRATT JTERT STefeR TTuft 31 2

9) G T R Q) 3fffered Reol g 3) 1T Sifcth ¥) afare
Which one of the following is the national aquatic animal of India?

1) Saltwater crocodile 2) Olive ridley turtle  3) Gangetic dolphin ~ 4) Gharial

€) gahl, === umoft
GTefietidh! PIUT T et ATer ?
9) MesT HEAR Q) ST ARIR 3) TyAfee Q) e I
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Which of the following is not a bird ?
1) Golden Mahseer 2) Indian Nightjar 3) Spoonbill 4) White Ibis

RN GTefieTih! POl TQand Jelell ‘U 3T grifdel Qrea =¥fiie SIREId Jfesudrd!
ST 3T ?

9) I ARATNE A% qTBaC R) ST 3MfUT epredRET I fertery

3) ufee ToRcHeie Hie Sereetar wew g) ufem =

In which of the following regions of India are you most likely to come across the ‘Great Indian
Hornbill’ in its natural habitat?

1) Sand deserts of northwest India 2) Higher Himalayas of Jammu and Kashmir

3) Salt marshes of western Gujarat 4) Western Ghats

SR grel AT A fORRT SRATE, oR JRelell el dalt IRIRAT SSTRI ey AT gerdteiiges
TN HleHHT YHSTIRITS! fEAuaTet oTaRiaT og. WTefiertdl 3Ry uaft /usft wiort/ amed ?

37) Uc Pl IRBIET &) PHAT T P) Pl HEHT bl
Tt SR
1) (9) Bh R) (8r) 3mfor (&) 3) (9) 3nfer () 8) (31), () 3mfor (@)

If you walk through countryside, you are likely to see some birds stalking alongside the cattle to
seize the insects disturbed by their movement through grasses. Which of the following is/are
such bird/birds?

a) Painted Stork b) Common Myna ¢) Black-necked Crane
Answer Options :
1) (b) only 2) (a) and (¢) 3) (b) and (¢) 4)(a), (b) and (¢)

MR 3T e a1 PIBIeTT PRI TR 3N ?

q) STTRERT F0T SATOT IR T TEUITATS! ST G 31Tg TR [ 24 F91 g Taeiies U2 Mfor
3T -ATBEC I TGV SR Se.

R) 3MReAer rear FRFRATS! PR el ST TR el redl RIS RIBR el ST

3) MR eh IR YRATT S1fcard 3fg R fUe Teh S YRATT STRKIcdT 318

) &R ferer faum (9), () enfor (3) Ut PIucEl SRR et

What is the difference between the antelopes Oryx and Chiru?

1) Oryx 1s adapted to live in hot and arid areas whereas Chiru is adapted to live in steppes and
semi-desert areas of cold high mountains

2) Oryx is poached for its antlers whereas Chiru is poached for its musk

3) Oryx exists in western India only whereas Chiru exists in north-east India only

4) None of the statements (1), (2) and (3) given above is correct

XaTetertidh! epiord /o /e ool 1R ?

31) el T ) AR e %) AN Rig

qift S :

q) (3) 37 (@) wh ) (3N), () AT (P)  3) (P) B 8) (31) 3mfor ()
Which of the following is/are mammal/mammals?

a) Sea cow b) Sea horse ¢) Sea lion
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Answer Options :
1) (b) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

TRATT JASRUT RS I’ T ST A pry/ 3 ?

37) I FHGRAT UToaTd A fhelicRiid Uiguary AeH 3.

9) § WRGCIR T ST,

%) A ST JTgal S UIeslq J1g eTehd e

gt SR :

9) (31) SMfor (F) Hh ) () AT () 3) (@) snfor () 8) (31), (3) amfor ()
What is/are unique about ‘Kharai Camel’, a breed found in India?

a) It is capable of swimming up to three kilometres in seawater.

b) It survives by grazing on mangroves.

c¢) Itlives in the wild and cannot be domesticated.
Answer Options :

1) (a) and (b) only 2) (a) and (c) only 3) (c) only 4) (a), (b), (¢c)
) TV IRR 9 TR

EIIALE T Wiellefidh! Do Mogimed g I ?

31) dcarged ) 3R P) ISR

gl IR :

) (31) Beh R) (31) 3 (9) Bh

3) (37), () 3T () - g) AU PIUIATE HEA RISRAIT Uifgel ST 2Mehd ATal

The phenomenon of hibernations can be observed in which of the following kinds of animals?

a) Bats b) Bears c) Rodents

Answer Options :

1) (a)only 2) (a) and (b) only

3) (a), (b) and (c) 4) Hibernation cannot be observed in any of the above

HEBIGR Uehee! STUITdl SeRIcT HH! PRUIRITS!, WTefietueh! DIV Siid Tea /Tedl SRRTEId HETHT

Teresd! 3T TR el ?

37) gTRNT q) qmic &) GMfor

gl IR :

9) (a) M7 (b) Hh ) (a) 3T (c) 3) (b) 3for (c) 8) (a), (b) 3T (c)

To reduce the chance of being captured by predators, which of the following organisms rolls up/
roll up and protects/protect its/their vulnerable parts?

a) Hedgehog b) Marmot c¢) Pangolin
Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)
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(1) SUTIh T EHIBRS UT0Tt — YUTA, TG, FEpcUTA-

9)
?)
3)

)

1)

Q)

2)

3)

3)

)

SUYH Aol - YT, SN, HHSUTE, AT
R uTofY

U0 3TSTR 9 RSB Th

q) STRYh Uit - GO, USRI, PHegpedle, HoRIIadr
WlefeTh! ior Feiiard! IRk uoimet & qrefidt Hatis =um shew@e S ?

9) it R) D 3) Wahel ) Pt
Certain species of which one of the following organisms are well known as cultivators of fungi?
1) Ant 2) Cockroach 3 Crab 4) Spider

GTefleTidh! P TRATRUN Toic, /Ui 3iTed /31ed ?

31) gcdTE® ) gemref %) Teft

R SR :

q) (1) 37T () Heh Q) (31) oMY () 3) () smfor () 8) (31), (9) smfor ()
Which of the below is/are pollinating agent/agents?

a) Bat b) Bee ¢) Birds
Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

GTeTIcTUh! PIVAT PR STq. SIAhICehID g TR ?

31) el q) et ) Pt TS

Tt SR :

q) (1) SN () e Q) (8) AN () 3) (@) sfor () 8) (31), (&) smfor ()

Some species of which of the following kinds of organisms are employed as biopesticides?

a) Bacteria b) Fungi c¢) Flowering plants
Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)
?) EFIPRS® uoft
PIEN PRUMES, HATRGRIT USTHeT AT HIS! B¢ IR, T AU TR /9RO BRI
3R] 1A ?

37) PIel g WEeR fquRa uRum g grepar.

9) PRI ANES Peled] FAT REASTT FFHE fg 16 8hds Tl

%) e PIal TSI Heell, Dot 3T Geil Alemewe HHT & 2T,

IR SR :

1) (d) &b R) (9) 3for (&) 3) (a) afor (&) 8) (31), () 3y (&)
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Due to some reasons, if there is a huge fall in the population of species of butterflies, what could
be its likely consequence/consequences?

a) Pollination of some plants could be adversely affected.

b) There could be a drastic increase in the fungal infections of some cultivated plants.

¢) It could lead to a fall in the population of some species of wasps, spiders and birds.

Answer Options :

1) (b) only 2) (b) and (¢) 3) (a) and (¢) 4) (a), (b) and (¢)
RTeiieieh! DIV NG ST/ 3T 2
31) aRard ) IRED BN &) SoGeld gRul
qift S :
q) () 3nfor () v ) (30), () 37T (B) 3) (D) Bh 8) (1) 3or ()
Which of the following is/are endangered?
a) Gharial b) Leatherback turtle c¢) Swamp deer
Answer Options :
1) (b) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)
3) U TOTR 9 HRED ISP

P! aufgel YR JTHivr HATTT SARIRRT A 3Rieiel! fiUTe STidlet Pfudd A, I/ 537 ...
3.

9) T 3MMPHD TSGR AT BRI 19T

R) TER HIeTe TN AR IRIER IUAR PRUIRAIS! AToRelel AT

3) T SUASY AT HHARAT

¥) AT Uh AT, Add IO1 TTdh T

Vultures which used to be very common in Indian countryside some years ago are rarely see n
nowadays. This is attributed to ...............

1) the destruction of their nesting sites by new invasive species

2) a drug used by cattle owners for treating their diseased cattle

3) scarcity of food available to them

4) a widespread, persistent and fatal disease among them

farpRt &faReh, T it SRl AIhRReT HHT BT A PHROT DI 3MTed ?

37) TEIidR ERUl 30T SRORT STe,

¥) TIHR TR Aha@qed die.

) P ARHARIT ST 3TSHU,

g) eI Ut Ui dard S W Sl IR g AT AR,

IR SR :

q) (1) 3o (9) ek R) (31), () 3T (d) 3) (3), (@) 31 (8) ) (), (), (P) ()
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Other than poaching, what are the possible reasons for the decline in the population of Ganges
River Dolphins?

a) Construction of dams and barrages on rivers.

b) Increase in the population of crocodiles in rivers.

c¢) Getting trapped in fishing nets accidentally.

d) Use of synthetic fertilizers and other agricultural chemicals in crop-fields it the vicinity of rivers.
Answer Options :

1) (@and (b)only  2)(a), (b)and (c) 3) (), (c) and (d) 4) (a), (b), (c), (d)

(90) FRTi ifehRuT ST SEERUl, Tl SRR

FARY T Fffepvor

3YST FLAT — AATBIZE, FRATBIESE, SRSTBISS
AYST T — DTS, Uhedroit
AR T IRINSTRET

GERERICReILLY)

FARY T FATTERIA

q) ARG HRIT
ARID=T, ST TG ITSIT WSPIAR. S¥dlel YATaRvTg ITRIUBR Foo PRUAN A&H 3MTed, TIENT ... I
SREIEREC IS
q) TepUeRT gt ST SitamL R) Upuef awuct affor gReft
3) Sttaroy amfor gReft 8) qReft 37flr QAT

Lichens, which are capable of initiating ecological succession even on a bare rock, are actually a
symbiotic association of .......

1) algae and bacteria 2) algae and fungi

3) bacteria and fungi 4) fungi and mosses

2) 3IYST T — AATRIZE, FRIBISE, SRSIBIZE
WIeTiedeh! PIoT Foflg HTelt F¥eiedT JEIRMER g Iguardt rardr 31 ?
31) w ) ford ®) 79 g) AIH
afft S :
q) (a) 3T (b) Bh ) (), (b) M (c)  3) (), (¢) 3MU(d) ) (a), (b), (), (d)
In the nature, which of the following is/are most likely to be found surviving on a surface without
soil?
a) Fern b) Lichen ¢) Moss d) Mushroom
Answer Options :

1) (@and (b)only  2)(a),(b)and (c) 3) (), (c) and (d) 4) (a), (b), (c), (d)
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Srare wefieelt = (Guechi)! =T AT I el ST, TETE @letietden! Piurd /t [/
J TRIeR 3Med /3 ?

37) & U qReft 37mR.

9) 2 fTerRIier Prel aeR aTed.

) IR-Yd ARATIe ferTermea ureanelt emaaiRieRan ot dneas dett S,

i SR :

9) (31) Th ?) (®) B 3) (a1) smfor (3) 8) (@) 3T ()

With reference to "Gucchi" sometimes mentioned in the news, which of the statements given
below is/are correct?

a) Itis a fungus.

b) It grows in some Himalayan forest areas.

c¢) It is commercially cultivated in the Himalayan foothills of north- eastern India.

Answer Options :
1) (a) only 2) (c) only 3) (a) and (b) 4) (b) and (¢)

3) VYT R — STuhediol, Uahediot

¥) TR SRR

oI ARITS! IGUIRATST dIdacld Wletielieh! I U §et gIdTd /2idrd ?

31) P IO AU 9=

9) &g 9 fhar g A

%) UHIES PIe

gt SR :

q) (1) wh R) (87) ofdr (3) wh 3) (31), (3) o7 () 8) (F) N (F) Feh
Which of the following leaf modifications occurs/occur in desert areas to inhibit water loss?
a) Hard and waxy leaves

b) Tiny leaves or no leaves

¢) Thorns instead of leaves

Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) 4) (b) and (c) only

ol TS} IRGUIATS! ATesdea WietfleTddh! PIvT I BRBR BT ?

31) P T AU 9=

¥) g™ U™

P) UHINEST B

gl IR :

q) (1) 3mfor (3) b 2) (31) 3T () 3) (9) afor () 8) (31), (9) 3T (@)
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Which of the following leaf modifications occur(s) in the desert areas to inhibit water loss?
a) Hard and waxy leaves

b) Tiny leaves

¢) Thorns instead of leaves

Answer Options :

1) (a) and (b) only 2)(a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

Y) IR GIYoT
TSI ATl AT @SSadd MATPR UG Pbleel DI d S gdges, Fabdl AT 7, PR ...
q) Hrciiciier amfl TereaT WisTAT a)TAT WRIIT Tg ehd el
R) T UNeged fiesd ATEid.
3) SIS ANl Gersiqeal MgHiar Je! usd
8) BT HEARIS! Sffferas fesd ATat
When the bark of a tree is removed in a circular fashion all around near its base, it gradually dries
up and dies because ..........
1) Water from soil cannot rise to aerial parts
2) Roots are starved of energy
3) Tree is infected by soil microbes
4) Roots do not receive oxygen for respiration

3 cTdetell Y Iad AR BRUL. .o

q) T ARIHR 3P @iHel T

R) FEIP G B T Al GY T GpSd

3) TRV de8] Sgciep Jobid o Tl

) TIRIGUTAT dd! U &RIe 3.

Many transplanted seedling do not grow because ............
1) the new soil does not contain favorable minerals

2) most of the root hairs grip the new soil too hard

3) most of the root hairs are lost during transplantation
4) leaves get damaged during transplantation.

€) RO T
AT PO UfEhaT FehTIRISANUTT Jdeiel 3R ?
9) U Holl Teh Fholl TGN AlSa! S,
R) Th ol AU IR BUART el ST AT A3t ST,
3) 31T PIE S AIATES 0T 0T ASet STl
) RIS Bdel ST, 3TfOr e SRIsTavITss MO gTodmdt arh aTeR feeft ST
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Which one of the following is the process involved in photosynthesis?
1) Potential energy is released form free energy.

2) Free energy is converted in potential energy and stored.

3) Food is oxidized to released carbon dioxide and water.

4) Oxygen is taken, and carbon dioxide and water vapour are given out.

TR TeIT RIS ARSI WTeflech! HIord faem /2 a1g ?
37) TN TR AN Al T g,

q) FTEfSTT TR fAsTu] 78 2o Aed g,

%) gRARIgErdl TR1E Aviciel ggcieh o3l et ST Aehe!.

i SR :

9) (31) Hh R) (31) 3T (@) &k 3) (1), () M (F) ) () MO (P) Fh
Which of the following statements is/are correct regarding vegetative propagation of plants ?
a) Vegetative propagation produces clonal population.

b) Vegetative propagation helps in eliminating the virus.

c¢) Vegetative propagation can be practiced most of the year.

Answer Options :
1) (a)only 2) (a) and (b) only 3) (a), (b) and (c¢) 4) (b) and (c) only

Pleg TRAL ATSdelel hod SR PIes TSI SadId DRUT

9) IUDILRT HcTGer el STl Q) AIATERUNT P ST IaIIssd SHTUT ared
3) YIARSARIFET T HHT Bl g) 3MedT dgell 318

Fruits stored in a cold chamber exhibit longer storage life because

1) exposure to sunlight is prevented

2) concentration of carbon dioxide in the environment is increased

3) rate of respiration is decreased

4) there is an increase in humidity

(99) FHifasT- i, HHRd S, gol eI

Hefae @ pfteava

fiesieht ate, divor, a0, @<, Hicw1eh
fOp amfor epRa STl
YAHROT G FLAI T
STERTYRUT g UT0f SaR_ATI+

HERTE IISTART ARRY AT qaukia At - ara fasm / gy



)

1)

?)

2)

)

1)

For Private Circulation Only

q) FHfASE T FHITTRIYT

P I el RIS Fleral Wi g T SIER0T 3.

9) SH-JgI PRURT Tleh Weit ) Higad dTGdUIN! difd Tt

3) YisdcT—pHT RO difed ST 8) aRAUh! Prarar el

The substitution of steel for wooden ploughs in agricultural production is an example of
1) labour-augmenting technological progress

2) capital-augmenting technological progress

3) capital-reducing technological progress

4) None of the above

HRATS QAT FEHT, T TRAR AR ‘ST Ryep T’ g 73 Fofiean Aisard &9 aroRa

RECH

a7) fafare foepiear STTeieal AT MiipReThl ST GiehTes ATTURATST AT HTHR SBEUIRIS! ST
STIPHUITE IR dedl ST QAehdl.

¥) g 97 fUoran T St fafid Ruamardt SRUIRT des H) PRI Hed hed

P) I ST fpmefict TS - AUt ISl PRUTRITS dhell Sy 2Aehd].

wafft SR :

1) (@) ST (&) ®h ) (31), (@) 3 (F) 3) (&) *eh 8) (a1) amfor ()

With reference to agriculture in India, how can the technique of ‘genome sequencing’, often seen

in the news, be used in the immediate future?

a) Genome sequencing can be used to identify genetic markers for disease resistance and drought
tolerance in various crop plants.

b) This technique helps in reducing the time required to develop new varieties of crop

c) It can be used to decipher the host-pathogen relationships in crops.

Answer Options :
1) (b) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

?) Uikl are, Nwur, 9O, W, Hiehrh

QAT ARIGISIRIh QAT AT/ 3R TR PRI YRV 81 2Tehal ?

37) AL ARIGISH — Uik Fersiiarar TR 8 e,

q) AT ST aTg ATl

&) AT A JToATe T glss Aehd. Wietldl PIs A IR IR Haer.

gt SR :

9) (@) wH ?) (@) Sfor () 3) (a1) amfor () 8) (31), (3) amfor ()
What can be the impact of excessive/inappropriate use of nitrogenous fertilizers in agriculture?
a) Proliferation of nitrogen-fixing microorganisms in soil can occur.

b) Increase in the acidity of soil can take place

c) Leaching of nitrate to the ground-water can occur.

Answer Options :
1) (b) only 2) (b) and (¢) 3) (a) and (¢) 4) (a), (b) and (¢)

HERTY ST ARRY HaT Gausien Arelt - e s / 8§
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YR TRBR AT fH-pies IRATT IR WATET BT < ?

q) Pl dd AT AlSed™ ST Jeoiar TIge RRRIER0 ared.
R) PgFErET olu AT R forgeuarar 9 HHt vl

3) TRICH Sfa™Tss, S gRATE a1 37Te, fUehrea ANy aTdra~und Areel Siid g,
¥) g UL I fAfde fpraTd @Wa i fsmor s

Why does the Government of India promote the use of Neem-coated Urea’ in agriculture?

1) Release of Neem oil in the soil increases nitrogen fixation by the soil microorganisms

2) Neem coating slows down the rate of dissolution of urea in the soil

3) Nitrous oxide, which is a greenhouse gas, is not at all released into atmosphere by crop fields
4) It is a combination of a weedicide and a fertilizer for particular crops

3) fueh 3for WhRd Sircht

STRAST P I T A ST ST Forelt 2MeT reett g, forft It gaR a9 Hiex ame
3T wostaT T8 BNt FIET IR, WK DIVRAT TRIIT ITAT 2N SARTAT 318 ?

9) 3EHH s Q) IMUUHATS STt

3) HepTolT CheaT ¥) TIPS IUhfCTefiT ol SHTet
Recently, our scientists have discovered a new and distinct species of banana plant which attains
a height of about 11 metres and has orange-coloured fruit pulp. In which part of India has it been
discovered?

1) Andaman Islands 2) Anaimalai Forests

3) Maikala Hills 4) Tropical rain forests of northeast

e TRIBRIANRIRG, FIIngEd JRRIGRA aaRTh TR Belcdl DIV Tl MM ?
37) T GPIoBTal AT PRUART. HEFH U]

q) I Uifte T arean

P) AT WA SO WY FeAHEY IIGUIRT 3MfOT Ueh1erieivUl hRUIRT & hRUIRITCH

T) I At e dIeIuITITe!

Tt S :

q) (81) ST (9) Hh ) (1), () MM (D) 3) (3N), (D) 3 () ) (3), (), (®), ()
Other than resistance to pests, what are the prospects for which genetically engineered plants
have been created?

a) To enable them to withstand drought

b) To increase the nutritive value of the produce

c¢) To enable them to grow and do photosynthesis in spaceships and space stations

d) To increase their shelf life

Answer Options :
1) (a) and (b) only 2) (a), (b) and (¢) 3) (a), (c) and (d) 4) (), (b), (¢), (d)

HERTE IISTART ARRY HaT qauia aralt : [ fasme / go
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AR s IR PRUITATS! aRietdd! PIvrd/ amdRel ST ?

37) HESTSHE IGR IMMVT BT PR,

9) RTINS JoY Je.

P) S IR

gt SR :

q) (1) wh R) (37) ofr (@) wh  3) (31), (3) M7 (&) ) () M (F) Heh
Which of the above is/are used to create transgenic crops?

a) Budding and grafting in fruit plants.

b) Cytoplasmic male sterility.

c¢) Gene silencing.

Answer Options :
1) (a)only 2) (a) and (b) only 3) (a), (b) and (c¢) 4) (b) and (c) only

SIS -9 30T SIS —2 TASTAT ST AT HASHTT heAT STl -

q) i FhET Fellel TR R) SFEhraReT TR Wi e f[afRad ol
3) Ryl dTdtea yerRfe Jre 8) S A I

Bollgard I and Bollgard II technologies are mentioned in the context of

1) Clonal propagation of crop plants 2) Developing genetically modified crop plants
3) Production of plant growth substances 4) Production of bio-fertilisers

Sict ait A1 Fam qrITEl e SR ST AR BRudTd STfel! 3TTe. AHNRET I ... 3Mme

q) IIRT Dle—HCRILD S0l R) T Tq STIfOr difdenar RO

3) IR EPIBRILD IaU] ¥) T Ah—cllsth UD AT PRUIITS!

A genetically engineered form of brinjal, known as the Bt-brinjal, has been developed. The objective
of this is

1) To make it pest-resistant 2) To improve its taste and nutritive qualities

3) To make it drought-resistant 4) To make its shelf-life longer

HRAT i aiaTer e faRemet wRor Biord ?

37) ATl R ST AT ST g dct aift TR et el M.

9) it i feamr g efiFeR feamr amg anfl @me Adqe=aiT Hde gy SR dumrieg faamor
faepd e @,

%) i) T A hed M IRITER I gRem goardt i .

g) N FgrEr IR P Safafduder e aRumg guart el [ s,

qift S :

q) (31) amfor (@) weh ) (3N), () AN (D) 3) (P) M () 8) (31), (@), (@), (3)

What are the reasons for the people’s resistance to the introduction of Bt brinjal in India?

a) Bt brinjal has been created by inserting a gene from a soil fungus into its genome.

b) The seeds of Bt brinjal are terminator seeds and therefore, the farmers have to buy the seeds
before every season from the seed companies,

c¢) There is an apprehension that the consumption of Bt brinjal may have adverse impact on health.

d) There is some concern that the introduction of Bt brinjal may have adverse effect on the
biodiversity.

HERTE IISTART ARRY HaT qauie Al : [ fasme / ge
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Answer Options :
1) (a) and (b) only 2) (a), (b) and (c) 3) (c) and (d) 4) (a), (b), (c), (d)

RATT BRI Selean ShR Gemia mgdear (GM 9gst) dewid, Wiefierdd o /dt e /3

RIIR 3ad /3Tad ?

37) SiIe AT ATciiciier STt ST ST STt aeuchien f[Afder JehReaT i hich-TfRIUD
UEBERCGIGH

) Sie qigdmed et Shwq erAara Sft geRuciid Shig—URNTUT ST FehuiepvUT hRUaRT TR 2T,

&) Sfed =gt TARI STfT uoTe Sfifierearet it Agehuot faemRia deft amg

gt SR :

q) (1) wh ?) () wh 3) (1), (3) amfor (@) ¥) (%) oMvr () ek

With reference to the Genetically Modified mustard (GM mustard) developed in India, which of

the statements given below is/are correct?

a) GM mustard has the genes of a soil bacterium that give the plant the property of pest-resistance
to a wide variety of pests.

b) GM mustard has the genes that allow the plant cross-pollination and hybridization.

¢) GM mustard has been developed jointly by the IARI and Punjab Agricultural

Answer Options :
1) (a) only 2) (b) only 3) (a),(b) and (¢) 4) (b) and (c) only

¥) YAYRY g AN A

4) STCTRIHRYT- g Y0 JaRa

(93) SUH ANOT BIFNBRS TR, TR T GITROT

SUYH TAAT — ARSI FRRISRT, BeAlcare STfor Hererit
I PRE TRt

TR TR

TR T 3NTY 7 ARA

TIIGRATIA, TITaRoT

q) SWYh TR — ARSI [RRIARIT, BaAledied Aor Gt
RgTeAeIeh! PV RIS — OhfadT =R 31md ?
37) THISTHT ¥) INIfRT ®) T
3) Felieer 3) TeH () %) YTt
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qift S :

q) (&), () Sr () weh R) (31), (@), (3) oMfor (h) weh
3) (3), (3), (3) &fr (%) weh 8) (31), (@), (3), (3) 3fr ()
Which of the following are nitrogen-fixing plants ?

a) Alfalfa b) Amaranth c¢) Chickpea

d) Clover e) Purslane (Kulfa) f) Spinach

Answer Options :

1) (a), (c) and (d) only 2) (a), (¢), (e) and (f) only

3) (b), (d), (e) and (f) only 4) (a), (b), (d), (e) and (f)
FgETAT FSHTT Wieflel fau™ faaRTd &1 ?

37) Pl TATET TR DicHID FU Blal (A2 Dichiedl TARTER FRIFA0 SIuIrTS! Bhall ST
NEl

q) PgfoEren a1 SiageR i gifiee feesicasar Mffde) aRedn S

&) PG el BHERCHA I ST I,

Tt S :

9) (ar) ST () Hh  R)(37) MO () 3) (@) mfor () 8) (31), (3) 3T ()

With reference to Neem the consider the following statements?

a) Neem oil can be used as a pesticide to control the proliferation of some special of insects and
mites.

b) Neem seeds are used in the manufacture of biofuels and hospital detergents.

c) Neem oil has applications in pharmaceutical industry.

Answer Options :
1) (a)and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

SlagURTeRIe] HRATT IR YRVIERIR, SiasuHTea] MRS @iefietich! PIoTdr e ATel 70T ariRal
SIS 91hdl ?

31) HIET ¥) WRIE Hlelel g U P) Gl &R
) Polclel JeIC 3TN §ic ®) Me SaNt

gl IR :

9) Weh 31, §, S 3MT | ) 31, P, S 3T | Hh

3) 9, &, § 30T § Beh g) 3T, 9, P, $, 3 A0 &

According to India’s National Policy on Biofuels, which of the following can be used as raw
materials for the production of biofuels?

a) Cassava b) Damaged wheat grains c¢) Horse gram

d) Rotten potatoes e) Sugar beet f) Sweet Sorghum
Answer Options :

1)a,b,eandfonly 2)a,c,dand fonly 3)b,c,dandeonly 4)a,b,c,d,eandf

GIeiieieh! PIor e aRIeR 37Te/3MMed ?

31) JHRITET TR SR SIS Rl Il

9) HRIURIT Pleciel el TRISHEATS! Hiewich 3 2.
%) AT AR Fed Tehigiergeh U IR Ral A,
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gt SR :

9) (@) ST () Hh Q) (31), () M (F) 3) () Th 8) (37) o ()
Which of the following statement is/are correct ?

a) Maize can be used for the production of starch.

b) Oil extracted from maize can be a feedstock for biodiesel.

c¢) Alcoholic beverages can be produced by using maize.

Answer Options :
1) (b)and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

TR TRIfCAh 8T ARG Aot HeheTaR Uah SMSad SURT T STl JT ey, Wieflerddh! piordt

U sRIER/ 31 ?

37) SRIM TRIthheFHE TReSTeAT ST, ST QRN ST diGeredT YRl aTuR bl ST1Ss e,

) MR TRAfthheHYT FHEoT BRI Saeeliel IR Beh RIS MU Pled SIIGNISS
S NGIGH

) TRAMRT TRIthapeF YT Ao gR Sgefie arg U Iwrr FFHIEH amRet ST aehdTd Wiy

Tt S :

9) (31) wh R) (an) ST (3) Bk 3) (31), (&) M () ¥) () MO (D) Heh

Biomass gasification is considered to be one of the sustainable solutions to the power crisis in

India. In this context, which of the following statements is/are correct?

a) Coconut shells, groundnut shells and rice husk can be used in biomass gasification.

b) The combustible gases generated from biomass gasification consist of hydrogen and carbon
dioxide only.

c) The combustible gases generated from biomass gasification can be used for direct heat
generation but not in internal combustion engines.

Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

WlefleTieh! Pl S1d W /S1d W g IRl S /el ST 2

31) 3R ) ARCIP P) TRRNTRRT

gl IR :

q) (1) 3for (3) b 2) (3N) 3T () 3) (@) afor () 8) (31), (9) 3T (@)

Which of the following is/are used as biofertilizer/biofertilizers?

a) Agaricus b) Nostoc ¢) Spirogyra

Answer Options :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)
ST <2 feATerd= Aee (RIS SrIRitiferan) a1 auciaT IugaddeTad STHodhdT aied 37T
PR AR AT ... o asEd A SR MeHA TR,

q) FoiRaferiel sitwer Q) smN-fegrar 3) HNIE IJTNTRATS! THTeT %) PHIS HIIR

Recently, there was a growing awareness in our country about the importance of Himalayan nettle
(Girardinia diversifolia) because it is found to be a sustainable source of ........
1) anti-malarial drug ~ 2) bio-diesel 3) pulp for paper industry 4) textile fibre
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NRART Yed TR IRTAeAT TR -CRieieedT eHTd, @ielledl v/ faem /3 sRieR 3fed/3med ?
1) SR-clIeieHed A da=ur fged RefieT SHgpemgR I 8.

¥) 1 faEeamed MR Sfor o aTh g ThRg 3ifm IS 3Med Sif ardTaRud Algett STdTd.
IR SR :

q) (31) Beh R) () wh 3) (an) amfor (3) At 9) (31) fohar (3) QR AR

With reference to bio-toilets used by the Indian Railways, which of the statements given below

is/are correct?

a) The decomposition of human waste in the bio-toilets is initiated by a fungal inoculum.

b) Ammonia and water vapour are the only end products in this decomposition which are released
into the atmosphere.

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

ARER JERTAT IU—IATGH AT SUGThelT HSH, Wletededl PIvrd fAe aRIsR 31e/ 3Ted ?

37) SFTET AR Bl HHNATC! IRART SUT FgUT el ST 2Tl

9) Rt IS T IUGTRIC! AR AR his¥eihud! U U hell ST 2Tehl.

P) s RIS AIfRITaT aToR el SIS bl

Tt S :

9) (31) Heh R) () SMfor () &k 3) (31), () MU (P) %) () MO (F) Fch

With reference to the usefulness of the by-products of sugar industry, which of the following

statements is/are correct?

a) Bagasse can be used as biomass fuel for the generation of energy.

b) Molasses can be used as one of the feedstocks for the production of synthetic chemical
fertilizers.

¢) Molasses can be used for the production of ethanol.

Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

?) EfNPRS a=cd

U 3TIOT JATSIT Tl SRR BIciTesull AT TSIV hedl Thelle favi g 3ewde] SR fay
TR BT ST AHTI: IGdUTeh RhIgR 8 8id AN, BATCHRTT ... SR TR .

q) dacRar R) HIeHEia 3) PID 8) R

Improper handling and storage of Cereal grains and oilseeds result in the production of toxins
known as aflatoxins which are not generally destroyed by normal cooking process. Aflatoxins are

produced by ............
1) bacteria 2) protozoa 3) moulds 4) viruses

HERTE IISTAFT ARRY HaT qauie Al : [ fasme / 4
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3) TRYAT SR

WTeTcTUh! PIVIT PRPECH FIEICT I TFRTAT BRUTT 3778 ?
31) gefY 9) Yz I P) TSI
oift SR
9) 3H, 9, P, S Q) 3, ¥, b Bh 3) 31, b Th
Which of the following spread plant diseases?
a) Birds b) Dust blowing ¢)Rain
Answer options :
1)a,b,c,d 2)a, b, conly 3) a, conly

) TRIAIOTY SV g R
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SICINECIRY
¥) 9, b, § Bh
d) Wind blowing

4) b, ¢, d only

“fifs SR F91d IRUINC! Sugeh AR RIS @ieflefieh! HerraT AR dhefl STl ?

9) PN T R) UfeThe Tad 3) IFF I

) e Tad

Which one of the following is used in preparing a natural mosquito repellent?

1) Congress grass 2) Elephant grass 3) Lemongrass

4) FAIGRATIH, GIIEROT

4) Nut grass
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(93) 94 aRRfAsT=

AT AT
T GeFRT<AT
AT 9aRTRIAT, b, BRI
qTe AR it v
AT 3T AT A=A
AT IS GRAT
grocdTe NIRRT
gy, erafafdear

q) HFE! AR

Q) TFE TR

3) U 9TRAERIRAT, b, BIeRTRRT

Wieiietidh Ior faer Adt oRiRTehier &t deft anfor & defier yfirard wataw qu & ?
q) a7 ueft feRONe UeSiuRET SRIRF J&0T S,

R) AT ULl SRR IS ST ST/ 916 AT e,

3) 7 Ueft SRRTT SRTIRIC FeUT S RN,

8) 7 ULl IMSTBIGe RO IAMURIT SRRF AR PR,

Which one of the following statements best describes the role of B cells and T cells in the human
body ?

1) They protect the body from environmental allergens.

2) They alleviate the body’s pain and inflammation.

3) They act as immunosuppressants in the body.

4) They protect the body from the diseases caused by pathogens.

UehT faTfed SISRI Ueh JelTl Gheh Hdal. Bl st T ol JArdT SIH ST, AT SIS Ihie
wdt uifsrfee onfdr ot frifeeg e, o geran wohve @ uifsifee, €t difsifeeg onfdr oft difeieeg omR. a”

Qdh tl)c'ﬂ'tll XhilC ........... 3T|%
9) 3N uiHfees Q) U uifsrfeeg
3) ot uffsifees ¥) feetear seran emuR FARET Pt ST ed AT

A married couple adopted a male child. A few years later, twin boys were born to them. The blood
group of the couple is AB positive and O negative. The blood group of the three sons, is A positive,
B positive, and O positive. The blood group of the adopted son is

1) O positive 2) A positive

3) B positive 4) Cannot be determined on the basis of the given data

HERTE IISTAFT ARRY AT qauia At : e fasm / yg
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8) ATE FR] 9 st [

fhRflic o faRe waren axhit Tmfes Nekg Tefquarrd! Wiefted! Hu aTRe ST1ss
9T ?
31) IR Thfr ) feer ThfHT P) IS 3Noxg

gt S

9) (@) ST (&) wh Q) (31), () M (F) 3) (F) Fh 8) (1) amfor ()

In addition to fingerprint scanning which of the following can be used in the biometric identification
of a person?

a) Iris scanning b) Retinal scanning c¢) Voice recognition

Answer Options :

1) (b)and (c) only 2) (a), (b) and (c) 3) (c) only 4) (a) and (¢)

4) A AT TR0
€ ) AFE). IS AT

9) GTocIGH AT
T GIIGD TSI 3ieiicbelel WAl FeHid, Hvgfderik It JiRel S
q) SATAT FHIVGR fAgHE STl et Q) YOI IcUIGe Uelle SFaiflie aeet
3) Priefie Yorme ¥eA vefiar fopRT ) Fadigfid drseipifret MM T
In the context of recent advances in human reproductive technology, ‘Pronuclear Transfer” is
used for
1) Fertilization of egg in vitro by the donor sperm
2) Genetic modification of sperm producing cells
3) Development of stem cells into functional embryos
4) Prevention of mitochondrial diseases in offspring

¢) SrEgHr, fRftle
R) I, erafeifehesn
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90) FeTehR, MU, ferfRe™ amoh

"SR 77 9eg el et RARATRIH e Seid Sg el STl

9) SRFRIRY SHarq ) Th URMIG et T

3) SR-TJ HRATT 3TMEBUMRY T HoTie, 8) YR SURGSTAT SRIERIE YIS Plerds
The word ‘Denisovan’ is sometimes mentioned in media in reference to

1) fossils of a kind of dinosaurs

2) an early human species

3) acave system found in North-East India.

4) a geological period in the history of Indian subcontinent

(9%) IR 9 BRGB b, IS, STIR d IIRFT HRIHH

9)
?)
3)

)

1)

Q)

2)

3)

T -INUNIR d PRSP Th
NS 9 TR
R HRihT

q) T —IFUHR J HRS 9D
TefieTdehl PIUT STSIR TR TPl Sxhichg GAT @chied FshiHd gl 21l ?

&) R q) federid st ) TE3Teal—USd

it S :

q) (31) wh R) (81) 3nfir (9) Bh-3) (30), () 37O (&) 8) () " (&) weh
Which of the following diseases can be transmitted from one person to another through tattooing?
a) Chikungunya b) Hepatitis B c) HIV-AIDS

Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) 4) (b) and (c) only

HIN1 faSTuET IgE Iaimed @letiefieh! HIur ISR AGHTT dhall STl ?
1) = ?) T ", 3) § 8) TIgT e
HINT1 virus is sometimes mentioned in the news with reference to which one of the following

diseases?
1) AIDS 2) Bird flu 3) Dengue 4) swine flu

GTefietidh! P/t faen= /3 sRisR 31ed /3med ?
37) Irefeaei ueeed, fRrenT fasTumET T S TRATRG RO S gl

q) f37pT fIuTo] TR iffies AHHUT AT BT

gl IR :

9) (31) Bh ) () Bh

3) (1) 3nfor (9) adr 8) (37) fbar (@) S=dtel Tl
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Which of the statements given below is/are correct ?

a) In tropical regions, Zika virus disease is transmitted by the same mosquito that transmits dengue.
b) Sexual transmission of Zika virus disease is possible.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

GTeAlcTueh! PIORT fae sRIeR gl ?

9) federrdRT ff BRRA Tl YT SRR Bl

?) federrd &, federidig e faudia, o =TTl

3) ST WoRTeR, fRuedg &t 31for it @R TR0 SHTeied dilpi! ReT TTRIea! STferd clhiuer
fhedes UM SR TR,

) fRUeRdNT 98 3 ERRAT Hhid Sl BrRIged 3Fd ay el fad Aid

Which one of the following statements is not correct?

1) Hepatitis B virus is transmitted much like HIV.

2) Hepatitis B, unlike Hepatitis C, does not have a vaccine.

3) Globally, the number of people infected with Hepatitis B and C viruses are several times
more than those infected with HIV.

4) Some of those infected with Hepatitis Band C viruses do not show the symptoms for many
years

WIS 7 ET s Tl HeHid faERI Bde S

q) FIIRPRT GUTRA FRUAHE STgebrdT TR

Q) YRATRT W SUUE il Vel faarT

3) alla fdraret e Hier

g) ST T TR

The term ‘ACE?2’ is talked about in the context of

1) genes introduced in the genetically modified plants

2) development of India’s own satellite navigation system
3) radio collars for wildlife tracking

4) spread of viral diseases

Wittt plur /ot e /3 sRIeR 3ed /31ed ?

37) fSAlcerRE RTe-%s STAY STHM ST TR YgeRRAAE Gedl SIUAY SiHF 3R
) AHRT e PUITR! TSAIERRATe gl R USH NoIRRadw g,

R SR :

q) (31) Beh ?) (¥) b 3) qgl (31) aMfdr (9)  8) arr () fobar () A

Which of the statements given below is/are correct ?

a) Adenoviruses have single-stranded DNA genomes whereas retroviruses have doublestranded
DNA genomes.

b) Common cold is sometime caused by an adenovirus whereas AIDS is caused by a retrovirus.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

HERTE IISTAR ARRY HaT gauier Al : e fasme / g
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STTARTeh MM HEHIA, Wietiedehl Pl e /= SRISR 37Tg / 3Ted ?

31) ARICII~Ie INTFAT UTerdhieng el BI0TRT TR &1, Siefisirean e fag wicemsieren ameh
fohar AR ARIIBIREA ReeRkite aRUgR URERIT Pel IR 2ramd.

9) AT ARSIl T YOIul TS aReTH fiesdrd 3nfor afeeriagd =Tl

it S :

9) (31) Bh Q) (¥) &h

3) (3) arfor (@) S 8) (31) fobar (9) <ere A

In the context of hereditary diseases, which of the following statements is/are correct?

a) Passing on mitochondrial diseases from parent to child can be prevented by mitochondrial
replacement therapy either before or after in vitro fertilisation of egg.

b) A child inherits mitochondrial diseases entirely from mother and not from father.

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

R) JMIMASH T STER
TeAIeTUehT DIV INT HRATTT TE ST/ ST 3772 2

a7) fewfifan §) PHiforeT P) Hicdiad
it S :
q) () 3T (&) weh- ) (31), (@) M (F)  3) (&) Beh 8) (31) 3T ()
Which of the afollowing diseases has/have been eradicated in India?
a) Diptheria b) Chickenpox ¢) Smallpox
Answer Options :
1) (b) and (c) only 2) (a), (b) and (c) 3) (c) only 4) (a) and (¢)
3) SIRIT HRIHH

(94) 3Nwer 3Mfor o=

aitwerTer @i g fAf

fafirer e st sitwer

Tt

3ty fRi=Tor rIeT 7 sitwerie gaRomm

q) 3fteier Hia g fAfdt
TRAKI Gerola IS Tg-3iue HRIEpId! PR @lefleldch! DU 3TTed ?
37) PTE! clepral SIafrep YRRl
) I R FRUIRAS! JcIaRAfcaad b S”T ool
%) YU Ffcfdeprar amiR
) PIE FANBHL 3Fh SIS TSR
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Tt S :

9) (1) Smfdr () weh Q) (31), () M () 3) (31), (@) M (3) ) (30), (), (@), ()48,
Which of the following are the reasons for the occurrence of multi-drug resistance in microbial
pathogens in India?

a) Genetic predisposition of some people

b) Taking incorrect doses of antibiotics to cure diseases

¢) Using antibiotics in livestock farming

d) Multiple chronic diseases in some people

Answer Options :
1) (a) and (b) only 2) (a) and (c) only 3) (b), (¢c) and (d) 4) (a), (b), (¢), (d)

?) fafdy InmmeR yrt sitwer

I Tl Hefd, Wieflerddh! ior /<t e /3 SRR 3/ 3med 2

37) o AT eRRT AN S HfieHd g FeUT arRel SiTSs 2.

) AT SRRIET SRaHt YRTATST o P I BT awadr A,

P) O TP A~TEHE IR TSy 2MhdTd.

) Pl HIcd RIfelsde 3.

Tt W :

9) Theh 37 3MOT § )T, HIAMITSHR 3)3, HIAMISHD )3, PIAMTS
With reference to the carbon nanotubes, which of the following statements are correct?
a) They can be used as the carriers of drugs and antigens in the human body.

b) They can be made into the artificial blood capillaries for an injured part of human body.
¢) They can be used in biochemical sensors.

d) Carbon nanotubes are biodegradable.

Answer Options :
1) aand b only 2)b, cand d only 3)a,cand d only 4)a,b,candd

GTeTicTueh! DU fem aRIsR 3TTed ?

37) TRANfhe™T AFET Saimefiel derhia Juunar fREfor dhedr SN TehaTd.

) IIfther o MUY 37 UfohaT YSHTIIR IR gIes Ihalldl.

P) TRfherg Tt UftepR Uefifd o 9rhdard.

Tt S :

q) (31) &fdr (3) B R) (F) 3N () B 3) (3N) 3N (D) b 8) (3), () M ()
Consider the following statements :

a) Biofilms can form on medical implants within human tissues.

b) Biofilms can form on food and food processing surfaces.

¢) Biofilms can exhibit antibiotic resistance.

Answer Options :
1) (a) and (b) only 2) (b) and (c) only 3) (a) and (c) only 4) (a), (b) and (¢)

HERTE IISTURRT ARRY WaT gauiar Al - 9 fasm / 4
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3) it
HRATT ~gATPIDhel ofiic vl ITIRUIT HEW B 3TTg ?
37) a1 A I qE HeuaR SMfYT e g Tt a1,
9) SiY-URRIYD Siamjfaeg TATH FeiedT Hicifddbiar iaeifea PHH! del ST 2T,
&) IT A PIUE A1SS Shacd THdT AT TS Piurciar srarett Hfcishar gia e,
wafft SR :
9) %h 31 Q) 31 37IfT § Heh 3) & Bh Q) o, § o1 &
What is the importance of using Pneumococcal Conjugate Vaccines in India ?
a) These vaccines are effective against pneumonia as well as meningitis and sepsis.
b) Dependence on antibiotics that are not effective against drug-resistant bacteria can be reduced.
c¢) These vaccines have no side effects and cause no allergic reactions.
Answer Options :
1) aonly 2)aand b only 3) c only 4)a,bandc

PIfde—a% ARIT=AT SIEIRURET 919 IRUIRAST TRIR beled] oIl AeHid, @leliedd! o /it

e /=1 SRR 3T /3R 2

31) RRA 3RESIE Ah 3™ mRNA wich™ e Covishield @t COVID-19 &/ TIR e,

g) Sputnik V & o RacR MTRA Wichid amueT quR defl S

%) COV-XIN & T Ffsha e o9 3.

Tt W :

q) (31) &Mfr (§) B R) (F) S () Feh 3) (3N) 3N () b 8) (3), () 3N ()

In the context of vaccines manufactured to prevent COVID-19 pandemic,which of the following

statements are correct?

a) The Serum Institute of India produced COVID-19 vaccine named Covishield using mRNA
platform.

b) Sputnik V vaccine is manufactured using vector based platform.

c¢) COVAXIN is an inactivated pathogen based vaccine.

Answer Options :
1) (a) and (b) only 2) (b) and (c) only 3) (a) and (c) only 4) (a), (b) and (¢)

Replreivc @aex oRit’ T deyid, Wielleldd! Pivid e /3 sRIsR 31e/3Med ?
37) a1 AT faer e ST SRR amRet S
q) fSfamy iy fawm) 7 aTge FeuT aToRel STard

gt IR :
9) (31) Heh ) (§) b
3) (31) afor (9) gl 8) (1) fbar (3) SErEr ATt

With reference to recent developments regarding ‘Recombinant Vector Vaccines’, which of the
following statements is/are correct?

a) Genetic engineering is applied in the development of these vaccines

b) Bacteria and viruses are used as vectors

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)
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WRA IRPRA Fo ot THIM Squqy’ ... REIRRECIES
q) Tt MfT mfach Al eRfteor

Q) QIR AE erexid! Ffefcdt

3) 9TRT SEEICHE GRS JRRATS! HRATaT a1 e
¢) T Serfores eNRor

‘Mission Indradhanush’ launched by the Government of India pertains to .......
1) immunization of children and pregnant women

2) construction of smart cities across the country

3) India’s own search for the Earth-like planets in outer space

4) New Educational Policy

¥) 3itwer fRI0T HrIeT 9 itweri gk

IR AT TAICTIATSHIT ITIRTAT FSHTd, dTetleidh! PIvr e sRIsR 318/ 31Med ?
31) AICaIeSIe dfedd vy IR oo St 3R
) TcaTelrst SiiF ORAHE JigaT FHIONT INEM <9 e

it SR
9) (37) Heh R) (d) wch
3) arer (1) 37fr (q) 8) (31) fbar (9) qrgret =Tl

With reference to the use of nanotechnology in health sector, which of the following statements
is/are correct?

a) Targeted drug delivery is made possible by nanotechnology.

b) Nanotechnology can largely contribute to gene therapy.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

(9€) 7= SO YUY — Hghl, 336, WSt Sfia=vid

3 g U gch

Halgd

e

ey ugret

R 7 @S -3[&9 1907 g
Sttamrea

YU BRI T IR
YT [RIST J Ufehar
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q) 3191 g QI Ih

ST Fewid Wieliotidh! Pt I aRisR 3 ?

37) TERICEd g AT it dRe a7 SRR delel SR

9) MeRfeRmee Fersiia A W Feled] ML MEDAId Wy o iyl AIa fsaTd
3o AATgId.

%) AERIfCaRT SUTT ARGV U PRUTN Fad .

Tt S :

q) (1) wh ?) (3) Th 3) (1) 3for () 8) (%) 3T ()

In respect of probiotics which of the statements given below are correct?

a) Probiotics are made of both bacteria and yeast.

b) The organisms in probiotics are found in foods we ingest but they do not "naturally occur in
our gut.

c) Probiotics help in the digestion of milk sugars.
Answer Options :

1) (a) only 2) (b) only 3) (a) and (¢) 4) (b) and (¢)

3) Feiqh

3RTUTCH g INIRT fadhet SIUR i wfierR g, JTd ST et SR MUY SaR STHIHT STretivmor

d PRt GRAAI. TG, O UG HHI—DHeRT TS PRV TS FgUT aTa=el ST, 3T aTRTET SR

P M2

q) SRUTCH § <ael PRARE e ST, U a1 PIRAT [T, MFRID ToAer el HHARTS o
AT SRR SAgsTa0l SffeTsTsst 8 AT,

Q) IFUfHIT SRUTCHAT dIUR hedidR Me Td Mg, U0 o SMfasHer TRy Bl

3) SRUTCH ARAWEAD TS R, T IRRIT ST AR, AT BIVTIT FATITHS ol IR
g AT,

¥) IRUICH g Cocl ARIRUET fhiehuc Mg 3RTd, TR dHI THIUI T SRUTCH aTqRe S-ideied \aTeIgIF
STfRTSIe! PHH! Dokl TR Bl

Aspartame is an artificial sweetener sold in the market. It consists of amino acids and provides

calories like other amino acids. Yet, it is used as a low-calorie sweetening agent in food items.

What is the basis of this use?

1) Aspartame is as sweet as table sugar, but unlike table sugar, it is not readily oxidized in human
body due to lack of requisite enzymes

2) When aspartame is used in food processing, the sweet taste remains, but it becomes resistant
to oxidation

3) Aspartame is as sweet as sugar, but after ingestion into the body, it is converted into metabolites
that yield no calories

4) Aspartame is several times sweeter than-table sugar, hence food items made with small
quantities of aspartame yield fewer calories on oxidation
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3) ufem
¥) forY uerd

4) &R g GRS —G&H 9N g
AT PO T HHE SRR FHRTT AGa-ITG! a5 318/ 3 ?

3) PR ¥) g %) |fT

wafft S :

1) (31) Th ?) (a1) smfor () 3) (3) smfor () 8) (31), (3) 3T (<)
Which of the minerals given below is/are required by human body for the contraction of muscles?
a) Calcium b) Iron ¢) Sodium

Answer Options :

1) (a) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

JMMERIT TSt thed STTOT W AT S PRuard RIthR™T dhefl ST BRI § Sial Ted JifesiifrTsead

I A 3Ted. JffcaAlfaaecd TR Achid IR IRGUAN - A aiqs arefquara weft #ed

hRATT ?

9) I IRRIT RS A ITuRITST JaeTes USTgH Hithd vala 3NN feRe et ehHaRaT STeouaT Hed
PRATT

R) T P, TR PN URAR STRG JHIUNT Sifedse FRUIN Ufey Rard AT Arfes Jorar
TGP JUTT CIRUITT Hed gl

3) O TR IR IR TR B0 Heh fehedt dee RN
8) O SRR UfiHe Pl S Afsha PRAIG 3TN Jgearl HishdT AU Had PR

Regular intake of fresh fruits and vegetables is recommended in the diet since they are a good

source of antioxidants. How do antioxidants help a person maintain health and promote longevity?

1) They activate the enzymes necessary for vitamin synthesis in the body and help prevent vitamin
deficiency

2) They prevent excessive “oxidation of carbohydrates, fats and proteins in the body and help
avoid unnecessary wastage of energy

3) They neutralize the free radicals produced in the body during metabolism

4) They activate certain genes in the cells of the body and help delay the ageing process

§) Shtavaea

GTeficTieh! DIV SIS SRISR Sesett /Mg ?
Shramaca HHARAT INT

37) fegcfom <t e

) feeei & e

%) fegcie § SRIBEEI
IR SR :

9) (31) 3T (9) Heh Q) (31) AT () 3) (P) =T (3) 8) (3), (P) 37 (3)
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Which of the pairs given below is/are correctly matched?

Vitamin Deficiency disease

a) Vitamin C Scurvy

b) Vitamin D Rickets

¢) Vitamin E Night blindness

Answer Options :

1) (a)and (b) only 2) (a) and (c) only 3) (¢) and (d) 4) (b), (¢), (d)
) JIYT HRIHA T FRFG

St o faie srEarerdt TUMT FRuINS! IFPRI gR @iefietdh diud gad /fdere amRel
ST ?

37) U ) gardr wefen ®) T,
it S
9) (31) Heh Q) (31) amfr (3) e 3) (@), () 3nfr () ¥) (9) 30T (B) heh

Which of the following is/are the indicator/indicators used by IFPRI to compute the Global Hunger
Index Report?

a) Undernourishment b) Child stunting c¢) Child mortality
Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) 4) (b) and (c) only

¢) YT YRASI g Ufeha
Wletlefteht v /Y U /= SRieR e/ 3ied ?
37) 3T GR&TT A ATD BRIGT, 00§ 73 WG UfeUD HrRIEmd! ST odet,
9) W 3Fef G ST Heh HMerenRur (FSSAT) 2 Pt SRR 30T el Heu HaAerdred AR

gt S
9) (31) Heh R) (¥) wch
3) (31) iy (9) el 8) (1) fobar () SErEr ATt

Consider the following statements:

a) The Food Safety and Standards Act, 2006 replaced the Prevention of Food Adulteration Act,

b) The Food Safety and Standards Authority of India (FSSAI) is under the charge of Director
General of Health Services in the Union Ministry of Health and Family Welfare.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

R H—Uehol heled] T[T AT, s ATCT 3fS FTCogd (UBISRT AT iafenT) FgeieM, 2099
AR, SHIGHI WTelieTdeh! Pl AR JT aldeiaR Tl TUFHRD 3TTg 2

1) Sifedicgdag Tl are)

) aNoT ARt
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%) PIUATE AL TR erRITEe JErhl eI dhetedl fRIBRHAT, SR SRTdel R

S) PRI /AR

gt SR :

9) (31) Sfor (3) wh ) (31), (3) MM (8) 3) (3N), (®) MM (3) 8) (), (@), (F), (3)

With reference to pre-packaged items in India, it is mandatory to the manufacturer to put which

of the following information on the main label, as per the Food Safety and Standards (Packaging

and Labelling) Regulations, 20117

a) List of ingredients including additives

b) Nutrition information

¢) Recommendations, if any, made by the medical profession about the possibility of any allergic
reactions

d) Vegetarian/non-vegetarian

Answer Options :
1) (@and(b)only  2)(a),(b)and (d) 3) (a), (c) and (d) 4) (), (b), (¢), (d)

gTEIErAf fquu FRUMRY ot STfeRTd axa i o Wremereied gma—tYe T4, § Su- g1
B Jd PRI ?

31) WregYf gRIGSTCS el Sdciel R,

) WreEugf Wl aRE/ JATIRE SFdeiel .

&) ARl JATeS ATEhIedl 8ed d ShdllgraRiatll STRIIRT g1 Uigraudre aTaidl g,

Tt SR :

9) (@) 3T () Fh  R) (31), () M (F) 3) (3F) Heh 8) (31) Sffor ()

A company marketing food products advertises that its items do not contain trans-fats. What does
this campaign signify to the customers ?

a) The food products are not made out of hydrogenated oils.

b) The food products are not made out of animal fats/oils.

c¢) The oils used are not likely to damage the cardiovascular health of the consumers.

Answer Options :
1) (b) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)
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(9V) HYRATNT fAsT 31" SErsTMer Wreh, TRRAT, IR

HewaTd STRETST  HeNerd
e AN HeqT
HET dAsTH

TS SROT, AT
IREPR, dgHH

q) U 9TRETST @ WeNereh

3T deTeh ALNETAT HeHid, SR Yarar fRIT Pur At 'IceCube' T8t Eietlet fau™ faamRrd
&1, IT AU, Wil PIv faem /3 SRR 31e /3T ?

31) g S Faid JI5 JieAr fecaer aig, SIMe U & fhaliiex ath 3TTe.

q) TS Uer AYUITATS! & U STfhertett GeT 37Te

®) dl Ihid GieldR MSell STl

i SR :

q) (1) wh R) (87) omfdr (3) wh 3) (31), (@) oM () 8) () N (F) Feh
In the context of modern scientific research, consider the following statements about ‘IceCube’,
a particle detector located at South Pole, which was recently in the news, are correct?

a) It is the world’s largest neutrino detector, encompassing a cubic kilometre of ice.

b) It is a powerful telescope to search for dark matter

c) It is buried deep in the ice.
Answer Options :

1) (a) only 2) (a)and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only
Q) TEATEAT HeNEH WA
e TIFe SaRCNIdel ARSIl I AR deniaig Faid Sig R (3fd-faferam

FIR) TR Pel. Sici-Hexe M aRum wrr emed/med ?

31) O WIFST A SAfOT et Qe T ST e e

) T 3I-HRURNT eledl AR ST SRIRA JrAT SIFRIAr! AT TURIVI H&d .

%) g faeardt Iepict TS U0 Hed .

Tt S :

9) (31) 3T (3) B Q) (1) AT () 3) () snfor () 8) (31), (3) anfor ()
A team of scientists at Brookhaven National Laboratory including those from India created the
heaviest anti-matter (anti-helium nucleus). What is/are the implication/ implications of the creation
of anti-matter?

a) It will make mineral pros-pecting and oil exploration easier and cheaper.

b) It will help probe the possibility of the existence of stars and galaxies made of anti-matter.
c¢) It will help understand the evolution of the universe.

Answer Options :
1) (a) and (b) only 2)(a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)
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3) g 95

R 8T 'SNTRRIERT MG FeRR TR ! aT Agw@r A 31e. 8 SR JeRAT STl TR ARt
dTcehlod thidal bl ?

q) dioT RISt =T St Uifear aR & el

R) SWIE AfeFHe T ST YfHeT HTH B 2T

3) O dio e @ fordsT sopeeTdl PriaHdT eI JURe 2T

g) O @S M wIoH sTHeeaT TIR d% A

India is an important member of the ‘International Thermonuclear Experimental Reactor’. If this
experiment succeeds, what is the immediate advantage for India?

1) It can use thorium in place of uranium for power generation

2) It can attain a global role in satellite navigation

3) It can drastically improve the efficiency of its fission reactors in power generation

4) It can build fusion reactors for power generation

¥) TSI RUT, TSI

TS & Rk ATRIR U dT ewd Siedrdl R /Ao i /gl ?

37) AT FdHaH O AT HrRieH 3Mfoges dIsTHHed Hagl 3Riet.

) T IR T ¢t 31 § AH-MfelhRe™ 3ifth IfFerR au=1 (NPT) o e .

gt SR :

9) (37) Heh ?) (¥) wch

3) (an) amfor (9) <= 8) (31). fobarr () S e

What is/are the consequence/consequences of a country becoming the member of the ‘Nuclear

Suppliers Group’?

a) It will have access to the latest and most efficient nuclear technologies.

b) It automatically becomes a member of ““The Treaty on the Non-Proliferation of Nuclear Weapons
(NPT)”

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

4) JREPR, TEHH
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(9¢) Hifed 9 YT e /SRR

IV TS - YD FHSIG 0T HePT, FMTeT &S ST F0EpET TR
TG TS - ST PrYIhe, cafhT ST I Calesioit

AR T 9 ¥ fcrger

ST TS Brfeh — e &b uRmn, fen @i, s arfeht, AR wifeeh oy e

A1fech TS AR - Hifed T SENS ST 99T g QI 9idaed, Ta e =god Afecht
g T ol

q) T TS — bl YT, IRTURBrE TR
=X 5% (BD) U 3fogedt U i afifedret 3k Nl 8 e, IRuRe Segidiver ot
BATIDR NS 3T ?
31) DVD a% SfthfHeM fefesner I9e= 20 a) BD g’ SfthfH9H fefSsner w9 <.
9) DVD =1 geFid, BD BRACHE 3 UT SR IERST &7 3T
%) BD I STiet % ot 3z R DVD =l Sigt 9-2 et ae.
it S :
q) (1) weh R) (1) emfor (3) B 3) (3N), (@) oMW (&) 8) (F) M () weh
A new optical disc format known as the Blu-ray Disc (BD) is becoming popular. In what way is it
different from the traditional DVD?
a) DVD supports Standard Definition video while BD supports High Definition video.
b) Compared to a DVD, the BD format has several times more storage capacity.
¢) Thickness of BD is 24 mm while that of DVD is 1-2 mm.

Answer Options :
1) (a)only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

TelicTieh! DIV SHIS! SRISR Sfesell /A ?

31ct it arawrTTed fowrard - ey / fawa

31) dot 2 WANT — G gfgrm

) sdlep 99 daeTH - fefoiea fobal e

%) CRISPR Cas9 - &1 Hifciepeme

gt IR :

1) (@) FhH ?) (@) amfor () 3) (a1) amfor () 8) (31), (3) 3T ()
Which of the pairs given below is/are correctly matched?
Terms sometimes seen in news - Context / Topic

a) Belle 2 experiment — Artificial Intelligence

b) Block chain technology — Digital Crypto currency

c) CRISPR Cas9 — Particle Physics

Answer Options :
1) (b) only 2) (b) and (¢) 3) (a) and (¢) 4) (a), (b) and (¢)
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STegT JHEIT THICHIFT AT Hebles! areidl, degl ral IoaT SAT0T Tl 85 PRUITAIS! QTR T hRal
SIS T ISR SMAISTY aTe] . THeT STRAHATYC SHIC JTRAT faTa g™ SRaad! JMfoT e
31egRes CIehidicl UTugTl UTcie! oxdiel Sefaal. el AT PRUITATS! Tl JfUoReRHYT Plal fohRom
AHH UdedHoR, O QT Felda! HHORAT 3Tewdd SMOT darodT IO SRzl JRAcIRITS! e .
STegT Jrel QAT BRI STeR ISl ST SRATSTT didh el degl 9 fod, URd, filgR S1ifoT gedt #7ef amavem
d BIAT. AT STThAe ST, T DR TR Je ofthd Pisiaaa JIaault od o1 ua it AT aad
3T SR greren Hifemraret IR Sl sRiet R ot gre Siiftheden ATIAR Fgl ITad.

IS BV ST ASHId, et TR Wiefiertihl ST oTeg Haiepe oAR] 8idr ?

q) 91 Tcd HIekpiel R) ST 3 R

3) se¥c Hicipid ¥) MR @ronfl Aedd

When the alarm of your smartphone rings in the morning, you wake up and tap it to stop the alarm
which causes your geyser to be switched on automatically. The smart mirror in your bathroom
shows the day’s weather and also indicates the level of water in your overhead tank. After you take
some groceries from your refrigerator for making breakfast, it recognises the shortage of stock
in it and places an order for the supply of fresh grocery items. When You step out of your house
and lock the door, all lights, fans, geysers and AC machines get switched off automatically. On
your way to office, your car warns you about traffic congestion ahead and suggests an alternative
route, and if you are late for a meeting, it sends a message to your office accordingly.

In the context of emerging communication technologies, which one of the following terms best
applies to the above scenario?

1) Border Gateway Protocol 2) Internet of Things

3) Internet Protocol 4) Virtual Private Network

scAlepaT s <1 HeUid XaTetieiddnt dur/df faem /= sRIeR 31ed / 3rmed ?

31) B T AT WTITg! 3T STl HAchotor qaroft aoe 9rdhel, I IofEl e aroRendt FRIf aa
AT,

) solidd-dl =T 3Mfor o1 37eft 3mg & Tchiel Td 32T dhdw fopciaR=ildga 31e

) AIHATAT e AREATR 3T RTelel SFIHINT PIVTTE URATHIER AR del ST
ehdId.

gt IR :

9) %eh 31 Q) 31 3If0r § heh 3) 9 %Beh ¥) aF 20T & Fch

With reference to “Blockchain Technology” consider the following statements:

a) Itis a public ledger that everyone can inspect, but which no single user controls.

b) The structure and design of blockchain is such that all the data in it are about cryptocurrency
onl

c) Apglications that depend on basic features of blockchain can be developed without anybody’s
permission.

Answer Options :

1) aonly 2)aand b only 3) 2 only 4)aand c only

P JGATT WieTieddl DIV PRI THTAIU P bl ?
37) aiEnfie gcamdie foomr aR o a=u ) 31iqul egeer 37T Mol IR ol
%) MM FeF ) CaRC—g—TTg HUTRYT
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3) Rl S aRRer™ gRAfte

IR SR :
9) Weh 31, §, P M Q) 31, P 37T § Feh
3) 9, $ 31for § Heh g) 3T, §, B, S AU 3

Artificial Intelligence can effectively do which of the following?

a) Bring down electricity consumption in industrial units

b) Create meaningful short stories and songs

c¢) Disease diagnosis

d) Text-to-speech conversion

e) Wireless transmission of electrical energy

Answer Options :

I)a,b,candeonly 2)a,cand d only 3)b,d and e only 4)a,b,c,dande

"'ggfe (qubit )’ TT AerdT S Wletierich! AT AU hefl Al ?

9) FATSS AT R) BicH BT

3) SOTHM TP U A 8) IR HRIADheT T
Which one of the following is the context in which the term “qubit” is mentioned ?
1) Cloud Services 2) Quantum Computing

3) Visible Light Communication Technologies 4) Wireless Communication Technologies

IR aTge Ufifd sRilgd (OLEDs) 3Md fovemed f3fica foval TR aRuImITet aToRel SITdrd
forfers foeeet fSeiean gomid OLED f3veeit R1 %hiie 3Tied ?

31) OLED fset dafuss Wi Tedecor daR dhel S35 A

¥) PUSTHE TS Poled Acl=310 f$F OLEDSs aiq del S11s b,

%) OLEDs 9%+ URSId fovel 9/ 3fied.

Tt SR :

9) (31) Hh R) (3n) 3T (3) b 3) (3), (%) SO () ) Fferieht el
Organic Light Emitting Diodes (OLEDs) are used to create digital display in many What are the
advantages of OLED displays over Liquid Crystal displays?

a) OLED displays can be fabricated on flexible plastic substrates.

b) Roll-up displays embedded in clothing can be made using OLEDs.

c¢) Transparent displays are possible using OLEDs.

Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) None of the above

2) TG THASH — SIeT HRYHABLH, Aeafd Mfor 99 ca-icron

ST T U (VLC) TSI HeHid, WTefiefdeh! Pior e sRIsR 37Ted ?
31) VLC selagifes Saey aRuetisdl 394 o ©CouT amuRd
) VLC M- el aRRe HRIAhe U 3iiesedel ST
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&) VLC AIGaT THIUTT STl &gy Ul STalg TR &% aehd

) VLC #e3 soagrifed gy =gl

Tt S :

9) Beh 3T, § MMM P Q) 3T, MM S Heh  3) 31, B AV S Heh  8) d, P 30T S Beh
With reference to visible light communication (VLC) technology, which of the following
statements are correct?

a) VLC uses electromagnetic spectrum wavelengths 375 to 780nm

b) VLC is known as long-range optical wireless communication

¢) VLC can transmit large amounts of data faster than Bluetooth

d) VLC has no electromagnetic interference

Answer Options :
1)a,band conly 2)a,bandd only 3)a,cand d only 4) 2,3 and 4 only

99 3.0 T W, Wetletih! P I SRR 1M ?

37) 99 3.0 dFSTH AT AT ad:aT Sl fd PRUIRT e ol

) 99 3.0 T S, &llcho JMUTRT AN "caa] 3R, AehdIa.

®) d9 3.0 TSI & PIARIFNGST THHATUY aqTRBATGR ATIRE doet ST

Tt S :

9) (31) STfdr () weh ) () MM () Heh  3) (3N) M (F) Bv 8) (3), () M ()
With reference to Web 3.0, which of the statements given above are correct?

a) Web 3.0 technology enables people to control their own data.

b) In Web 3.0 world, there can be blockchain based social networks.

c) Web 3.0 is operated by users collectively rather than a corporation.

Answer Options :
1) (a) and (b) only 2) (b) and (c) only 3) (a) and (c) only 4) (a), (b) and (¢)

"'g 3 RIS Acdd’ | U BRI ?

q) & TR RO WIORTT WUk Hedd SR, XV aTiRe TRl TERgR THihes Hifedl SRR
hn AchdTd.

R) g ARSI SCIeaRId U AU -icaeh SR o Hifedral AR&T IRGT aTReped 1 e AL
CIHHEY Tde UM .

3) B U ATV Seddh MR STHEY dToRd HdT TSGR S0 e 1R qored) Fer
h Ahdld

8) @R feelet PIoEl faur (9), () 3r (3) g mdt @rorft Aeadd A quf e,

What is “Virtual Private Network™ ?

1) It is a private computer network of an organization where the remote users can transmit
encrypted information through the server of the organization

2) It 1s a computer network across a public internet that provides users access to their
organization’s network while maintaining the security of the information transmitted

3) It is a computer network in which users can access a shared pool of computing resources
through a service provider

4) None of the statements (1), (2) and (3) given above is a correct description of Virtual Private
Network
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'ARI-HR T AT, NaTefietdeh! o fen aRIeR 31e /3R ?

31) d EI-TS ST JrAMHAS YepTeraT JTeqH Fgud aTuR ahvdl.

¥) 2 U IR e 3T SMfYr O ‘aR—Ihry’ Uer fohdes udi iiam 3R

i SR :

9) (31) B ?) (@) T 3) @) ey @) 3 8) (3) fobar () e T
With reference to ‘Li-Fi’, recently in the news, which of the following statements is/are correct?
a) Ituses light as the medium for high-speed data transmission.

b) It is a wireless technology and is several times faster than ‘WiFi’.

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

qd1G TASTHIAT AT, S (Gl Ichict) AT de (BT Alegy dli1-cH geglogg ) Jeliel
R /| BRED P I/ 3 ?

37) LTE "ammaa: 3G U 3o VoLTE = fasht wmm=aa: wid 3G U dheft S,

¥) LTE ® %th ScT alsi 3fTe 30T decN & theh @igd s 3TTe.

it S
9) (37) Heh R) (¥) wh
3) arer (1) 37fr () 8) (31) fhar () Srgrer el

With reference to communication technologies, what is/are the difference / differences between
LTE (Long-Term Evolution) and VOLTE (Voice over Long-Term Evolution)?

a) LTE ‘is commonly marketed as 3G and VOLTE is commonly marketed as advanced 3G.

b) LTE is data-only technology and VoLTE is voice-only technology.

Answer Options :

1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

"TI3R thice dRIFADT (NFC) T’ <7 T, Wielie! Piurd e sRIsR 37Te / 37Ted ?

3) & b HUPRIe AU el 3e o gelagHafeen 3l thies amRd

) NFC g IUSRUIGR ITIRUIRITS! fSF1ST el MM S ThHPIIRET SHTGT Ueh HICTAT STaRTaR 3R], 2Tl
®) Fagaefier arfect urdadr NEC THfhee amoss 9.

Tt S :

9) (an) amfor () o ) (31) 3T () 3) (3) smfor () 8) (31), (3) 3T ()
With reference to ‘Near Field Communication (NFC) Technology’, which of the following
statements is/are correct?

a) It is a contactless communication technology that uses electromagnetic radio fields

b) NFC is designed for use by devices which can be at a distance of even a metre from each other
¢) NFC can use encryption when sending sensitive information.

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

q) PRI FIRATT T R) TR HRGFPI TAH
3) AR Soll I AT Q) TRl TGS
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‘Project Loon’, sometimes seen in the news, is related to
1) waste management technology 2) wireless communication technology
3) solar power production technology 4) water conservation technology

- MMV AT JUIROTHED BRI TR TR ?

q) g -8 GHz 33N, IRARAT 98 10=d, R Wi-Fi 2-4 GHz a1 5 GHz IRaRdT 98 10 e

R) WICYET AR Treh IR Al IRAT Acad (WLAN) 16t dhefl Sidl, aR —Wi-Fi theh arRe
a1se IRAT Acas (WWAN) A1t amaRer S,

3) Siegl &g TASTH dTuRed QI SUPRUIHTE] HIfed TR dhell ST ; IUDPRU TehHp AT eI
SMGIT 3RAU 3P 3MTe, IR Il A-I—HRI TASTHET IR bl STl cTegl IJUDPRU| TehHep e
ST 3R SIS A

¥) R el M () enfor () A1 FSHiT aRIsR 3fed

What is the difference between Blue-tooth and Wi-Fi devices ?

1) Bluetooth uses 2-4 GHz radio, frequency band, whereas Wi-Fi can use 2-4 GHz or 5 GHz
frequency band

2) Bluetooth is used for Wireless Local Area Networks (WLAN) only, whereas -Wi-Fi is used
for Wireless Wide Area Networks (WWAN) only

3) When information is transmitted between two devices using Blue-tooth technology; the devices
have to be in the line of sight of each other, but when Wi-Fi technology is used the devices
need not be in the line of sight of each other

4) The statements (1) and (2) given above are correct in this context

3D, fAfé 7eat refiel SFFRINT MR ?

37) PRI IR TIR Ul ) SR P i
%) IffcHife Sen ) GAAHD IREfhAT
3) S URIRAT TIeie

gl IR :

9) §, @,  IMMT 3 Q) 3, 9, B, SIS 3)T, HAMSHNh 9)d, 33
“3D, printing” has applications in which the following?

a) Preparation of confectionery items b) Manufacture of bionic ears

¢) Automotive industry d) Reconstructive surgeries

e) Data processing technologies

Answer options :
I)b,c,dande 2)a,b,c,dande 3)b,cand d only 4)b,dande

3) ARISR T2 9 IR Ufcey

'WannaCry, Petya, Eternal Blue' IT STsgaT 3teflehs Sgva dhetedT STt Feferd ammed.

9) THRAIeHe Q) forrer T 3) IR &Y ) ol Suwg
The terms ‘“WannaCry, Petya, Eternal Blue’ sometimes mentioned news recently are related to
1) Exoplanets 2) Crypto currency 3) Cyber attacks 4) Mini satellites

HERTY ST ARRY a1 guRien arslt : [ s / 03
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NRATd, gfectes 6 hReTR g 9Teg AgHid dToRell STral

q) f3Rieet dRam UMy Gfaen R) el RAT YR gfaer

3) IR [T AT erfores qramqe Jfae 8) AR AT dgges g Jfae
In India, the term “Public Key Infrastructure” is used in the context of

1) Digital security infrastructure

2) Food security infrastructure

3) Health care and education infrastructure

4) Telecommunication and transportation infrastructure

HRATT, FRIER JReT Tcidee Mgalel Ul Wiefietidh! HIoTTS! PrIceiRRer sifart amg ?

31) a1 e ) ST b P) diet PIARe

Tt SR

q) (31) for (&) ok R) (3N) 3T () 3) (3) anfor () ®) (31), () 3Mfor ()

In India, it is legally mandatory for which of the following to report on cyber security incidents?

a) Service providers  b) Data centres c¢) Body corporate
Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

¥) STRTAITR IS Brishd — sk &a vfdr, faen arfe<ht, s arfgsh

IRT TR fefiee 3fear I Iy Wieliatdl Hivr /3med ?

37) AR YRATAT AT e’ du-ardt S

q) fam a1 Aapferd ol wReef SERT SR e R Hiiifers Hinined @ widt ger e
TR PRUTNATC! NI PRUITAS! Teh YRVl hracs TYTMUT .

&) ST 3D AT SR Fridre Tl SITOT ST Seh QATT, ATGSIep [SehTul T THRg i
PR TRI-THIId! ST

Tt S :

9) (@) 3T () Bh - R) (31), () MU () 3) () Beh 8) (37) Mo ()

Which of the following is/are the aims of “Digital India” Plan of the Government of India?

a) Formation of India’s own Internet companies like China did.

b) Establish a policy framework to encourage overseas multinational corporations that collect
Big Data to build their large data centres within our national geographical boundaries.

c¢) Connect many of our villages to the Internet and bring Wi-Fi to many of our schools, public
places and major tourist centres.

Answer Options :
1) (b) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

DigiLocker' 91ed, HTEA®T SIAIME Ulfgel SIId, Wiefladd! HIu e sRIeR 31 /318 ?
37) g fSieet sfeam sidid TRAPRER MR Petel! f3TeeT o= vomeft 3
9) T Tl AT Hilih FIHTHS getel DR G —-GRINaSTHE Tael SpRuIT! TRAFIT <.

HERTE IISTAFT ARRY a1 qaukia At : [ fasm / ug
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it S
9) (31) Heh R) (¥) wch
3) (31) afor (9) el 8) (1) fobar (3) SErdr At

Regarding Digil.ocker’, sometimes seen in the news, which of the following statements is/are
correct?

a) It1s a digital locker system offered by the Government under Digital India

b) It allows you to access your e-documents irrespective of your physical location.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

3N Iehd SMUR’ & et Siftercher TR gextha (TRam) UeM @, arar 31 SRy gl ?
1) O PR ST Ieh SUDBRUINT FHTBIA pel ST el
9) g9 A ATl AR T 3.

Tt S :

q) (31) Beh ?) (3) ®eh

3) (a1) amfor (3) <= 8) (3F) fobar (9) Sreter

The identity platform ‘Aadhar’ provides open “Application Programming Interfaces (APIs)”. What
does it imply?

a) It can be integrated into any electronic device.

b) Online authentication using iris is possible.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

f¥freer Ieer Hewia wWieliomid Pivrd fJum aRIsR TR /3ied ?

31) BHIM 31 aroRepict UPI-e §b 3cicdT PIvlelal 41 gidiNGg PhRuATd IRa=rt el

9) Ry U fee Fréaed smiiexuR TR ged Fard, a8 BHIM 3iHed Hoflexuc theh SN 8ch
S NGIGH

Tt S :

9) (31) Hh ?) (@) T 3) (3n) ST () Q=Y 8) (37) fobert (1) Qe T

Which of the statements given below is/are correct with reference to digital payments ?

a) BHIM app allows the user to transfer money to anyone with a UPI-enabled bank

b) While a chip pin debit card has four factors of authentication, BHIM app has only two factors
of authentication.

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

fRicer Tarert =1 deuid, Wielierdh! PIur e /= aRIsR 37/ 3MRd ?

31) U Solaci = Xepls I al TR UMt JHTIOrT UTfeeunsT anes<aar

9) SeTIcaRIe HIfEd fohaT AL AT PRUIRATG! QaTel ehiedl JAledrdm GRTaT FgU aTuRel STl
®) Foaci D et IR Seag e ugd

gl IR :

q) (31) &b R) (3n) 3mfdr (9) Beh  3) (31), (§) M0 (B) ) (3) NPT () Beh
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Which of the statements given below is/are correct regarding digital signature?

a) an electronic record that identifies the certifying authority issuing it

b) used to serve as a proof of identity of an individual to access information or server on Internet.

¢) anelectronic method of signing an electronic document and ensuring that the original content
1s unchanged

Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (c¢) 4) (b) and (c) only

y) HfRch de Serie JeYd UeH 9 @ ufddas

TARSHRIG! SR fefTeet T Feuid, Wiefietid! PIurd! U SRR 31med ?

37) affmice Rafferct (AR) Hedl, U Riegelcs aTdTaRtl iR dhel ST MOT Hifcres ST quigur &g el ST,

9) Tgsre Raiferdt (VR) A&, SUIhIaRe qaR dheted] UMl aRifdes SiiaHTdiel g fdhat aRERTeR
&I heT ST,

%) AR hHT ST SURRIT IIEUARIT URATHIT <l AT THIC-H fohaT 19 a1 HHRT aTdRed 3T
YR

§) VR SHITET 95 aRd, AT TEIEN hiall FAMICRIG R, JoT fagorar 3Hd UM .

Tt} SR :

q) (31) ST (F) Hh ) (31), () MM (F) 3) (@) SMr () 8) (37), (), (3)

In the context of digital technologies for entertainment, consider the following statements:

a) In Augmented Reality (AR) , a simulated environment is created and the physical world is
completely shut out.

b) In Virtual Reality (VR), images generated from a computer are projected onto real-life objects
or surroundings.

c) AR allows individuals to be present in the world and improves the experience using the camera
of smart-phone or PC.

d) VR closes the world, and transposes an individual, providing complete immersion experience.

Answer Options :
1) (a) and (b) only 2) (a), (b) and (c) 3) (¢) and (d) 4) (a), (b), (d)

ATRUIRIR AT AGHIA, Wlefietieh! Diurd Bl /d FefRrd SUSRUIgR Ut el ST /et STTTd 2
37) Thi TR 3N

9) T b S e

%) HIUIEH chlel Had ROl

gt SR :

q) (@) ST (P) Bh ) (31), () M (F) 3) () Th 8) (37) ffor ()

In the context of wearable technology, which of the following tasks is/are accomplished by
wearable devices?

a) Location identification of a person

b) Sleep monitoring of a person

c) Assisting the hearing impaired person

Answer Options :

1) (b)and (c) only 2) (a), (b) and (c) 3) (c) only 4) (a) and (¢)

HERTY ST ARRY HaT GauRten el - 9 s / g,
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Glefledhl Pt 37T M-I fSRTeet weicthider TR dell Netell 3Med ?

37) SR A ) Pr-fo= P) fesiaiax g) faer
qift S :

q) (1) 3mfor () heh R) (3), (@) M1 (3) Heh

3) (30), () Sfr (8) weh 8) (31), (3), (&) 3mfor (%)

Which of the following are built on top of open-source digital platforms?

a) Aarogya Setu b) CoWIN c¢) Digilocker d) DIKSHA
Answer Options :

1) (a) and (b) only 2) (b), (c) and (d) only

3) (a), (c) and (d) only 4) (a), (b), (c) and (d)

"'4aT TRV ATCASR (SaaS ARKY)'' T I, Wietletueh! vl I sRISR 37Ted ?

37) SaaS WERR ¢ IR ehe A Dlerd P Al M1 ST Hhice dGe]. TadTd.

¥) SaaS aTRE AT AW [SRISACR AT ST HTAT %o eI,

%) Outlook, Hotmail 31T Yahoo ! 3t 2 SaaS o &Y 37gd.

qift S :

Q) (31) 3T (&) Wb Q) (S) MMM (&) b 3) (31) 3N () Bh ~ 8) (31), () 3or (&)
With reference to "Software as a Service (SaaS)”, which of the following statements are correct?
a) SaaS buyers can customise the user interface and can change data fields.

b) SaaS users can access their data through their mobile devices.

¢) Outlook, Hotmail and Yahoo! Mail are forms of SaaS. .

Answer Options :
1) (a) and (b) only 2) (b)and (c)only 3) (a) and (c) only 4)(a), (b) and (¢)

(9R) 3cRI A=

IIUE - UBR, TAS g AU
YU IS g SUUEATED
]dE, Siidies @ Sitemags, TRIe @ g Bienmht

q) SWIE ~ UBR, TASIH g I
TEAR ReRre! amRelel SUE YRR HaId Sdel ST, Sicgl IR ... 3R, ! Al IWE
IR HaIT Mg R g

31) T Y—FHBIfTD ) PeIT MATBR
&) PaT g fayagrear FHded g) Pear IR,:3¢% Tl IR
Tt SR

q) () 3T (&) ®eh ) (31), () SN (F) 3) (3N), (F) B (3) ¥) (30), (&), (P), (3)
Satellites used for telecommunication relay are kept in a geostationary Orbit. A satellite is said
to be in such an orbit when .........

a) The orbit is geosynchronous.

HERTE IISTAFRT ARRY HaT gauRia aralt : e fasm / oo
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b) The orbit is circular.

c¢) The orbit lies in the plane of the Earth’s equator.

d) The orbit is at an altitude of 22,236 km.

Answer Options :

1) (@and(b)only  2)(a),(b)and (c) 3) (a), (c) and (d) 4) (), (b), (¢), (d)

Grefledhl P HRITT sfeam Rale IR (IRS) SWE aTaRel STIAmd ?

31) diep IcUTGehcd e q) oI |iq oy
P) WSl o= ¥) TEAR 3) &R IR
gl IR :

9) 31, §, P, SIMUTF )37, A B Heh 3)d, HAMSHh  8)d, ST 3
In which of the following activities are Indian Remote Sensing (IRS) satellites used?

a) Assessment of crop productivity b) Locating ground water resources

¢) Mineral exploration d) Telecommunications

e) Traffic studies

Answer options :

1)a,b,c,dande 2)a,band c only 3) b, c and d only 4)b,dande

HRA T helcdl WAL JYATS ' IRGIIC HEHI, WieTieTdehl DIur e sRISR 37Tg / 37Ted ?

37) QY SIOT IRRT AARh, AR 8T ThHT Q2 IATg ST ST HBIRAT TUTEST SFABIRATT IS AT

9) 3RGRIC g1 000 fhall goMTT ST 3ME ST G USHRTURIT & 4o fhHT aR el Sacial 31Tg.

gt SR :

q) (37) Hch R) () ®h

3) (an) amfr () <= 8). (31) febar (%) It el

With reference to ‘Astrosat’, the astronomical observatory launched by India, which of the

following statements is/are correct?

a) Other than USA and Russia, India is the only country to have launched a similar observatory
into space.

b) Astrosat is a 2000 kg satellite placed in an orbit at 1650 km above the surface of the

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

sfeom RorFer Afnem Fearse Red (IRNSS) &1 4, Marelieidd! Hiu fJem /3 sRIsR 3ie/
3MeeT ?

37) IRNSS = YRR - SUE 31ed AT IR S J—FHDIord Par AT

) IRNSS \quf 9Rd i e Hinvefies IR 4yoo kA fpet .

) YRAR WA Aeamse Ao RREH sRie Samed §qul STy Tl 3RAe.

gt IR :

q) (@) ST () Hh  )(3D), (F) MO (FH)  3) () Fd 8) (37) o ()

With reference to the Indian Regional Navigation Satellite System (IRNSS), which of the statements
given below is/are correct?

a) IRNSS has three Satellites in geostationary and four satellites the geosynchronous orbits.
b) IRNSS covers entire India and about 5500 sq. km beyond its borders.

HERTE IISTAR ARRY HaT qauRiar aralt : g fasme / ue
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c¢) India will have its own satellite navigation system with full global coverage by the middle of
Answer Options :
1) (b) and (c) only 2) (a), (b) and (¢) 3) (a) only 4) (a) and (c)

?) U8 TFsIH 9 SUUEAIeD

WTefleTieh! DU SIS SRR Sesett /Mg 2

JERTSAT I

37) BRF-gerd gepTHIac fORRUT 37T ST geefiar uraaur,
g) JHSR oI HUT 37Ifor U,

@) @RISR q MM 2 9131 AR JAU 0L,

gl IR :

9) (31) 3ior (9) deh Q) (3F) AT () 3) (9) 3T () 8) (31), () 3fr ()

Which of the following pairs is/are correctly matched?

Spacecraft Purpose
a) Cassini-Huygens  Orbiting the Venus and transmitting data to the Earth.
b) Messenger Mapping and investigating the Mercury.

c) Voyager 1 and 2 Exploring the outer solar system.
Answer Options :
1) (a)and (b) only 2) (a) and (c) 3) (b) and (c) 4) (a), (b) and (¢)

U Gl fhelHicy dlld d15] 3Rieiell FHYS Bl IR gleel 311 UG- 3 SiaRI@AM STahlad
TG IR0 T T 3 SABRATTT SR R gadiel 312t JSHT TohT TR dheft SR
3Te. T YARTFET Y ... DI

q) ERISR- R) Y ERIFH 3) LISA qlgmigsR ) faspRid LISA

The experiment will employ a trio of spacecraft flying in formation in the shape of an equilateral
triangle that has sides one million kilometres long, with lasers shining between the craft.”

The experiment in question refers to ..........
1) Voyager-2 2) New Horizons 3) LISA Pathfinder 4)Evolved LISA

YR IUUE Y&YU gl FeHid @ieileiden! PIur! faum sRIeR 37ed /31 ?

37) diewIgereg! geaiea HRTeMTeT SERERITS! Sugth SUE &t avdld a) SHUaveres! Jeed: Huy
SR afid aRuaNITdS! fSeme dheler 3ied.

g) PSLV o Yafid delel IUUE gediasiel fAfas ST UTfeedrym o Sl re fRuda wrm

fRR srfeard foga I

%) GSLV MK III ? &9 Jidve HicH arae Ufdel SMOT foRiR e 3Rieiel IR—TRUT HaqUT a1 31Te; 31for
S Riche IR aToReT GERT ST e o

gl IR :

q) (31) wh R) (9) 3mfor (@) 3) (ar) amfor (&) 8) (31), (9) 3T (@)

Which of the statements given below is/are correct with reference to India’s satellite launch

vehicle ?

a) PSLVs launch the satellites useful for Earth resources monitoring whereas GSLVs are designed
mainly to launch communication satellites.

HERTE IISTARRT ARRY Wal gauiar Al - 9 fase / o]
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b) Satellites launched by PSLV appear to remain permanently fixed in the same position in the
sky, as viewed from a particular location on Earth.

c) GSLV MK 11l is a four-staged launch vehicle with the first and third stages using solid rocket
motors; and the second and fourth stages using liquid rocket engines.

Answer Options :

1) (a) only 2) (b) and (¢) 3) (a) and (¢) 4) (a), (b) and (¢)

S J&fid detel HIGAM ...

37) I g7 3fffeer WM 318 =]orard

q) SMRPAIR ST Pard ARSI IRURT HRA & GERT Q2 Sl

®) Ul YITT FHSIT hald 3N 3icRIe I IR FRUITT YRATAT 9T fHosTel

gt SR :

9) (@) ST () Hh - R) (31), () MO (F) 3) () Feh 8) (37) o ()

The Mangalyaan launched by ISRO ...........

a) 1s also called the Mars Orbiter Mission

b) made India the second country to have a spacecraft orbit the Mars after USA

¢) made India the only country to be successful in making its spacecraft orbit the Mars in its very
first attempt

Answer Options :
1) (b) and (¢) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

AT AR B Wletedehl DIV STHT JIRHIU YR YIS SIS eI ?

31) forean AR Hiedh-erb] harull HRor

9) AfhY SAETE T Weedid! aurivT aRul

%) ST FISATOIRITS! FATSfET Rt SR g MeT ol

Tt SR :

9) Wheh 37 3MUT § ) § 3ffor & heh 3) 31 3o & Heh ¥) o, § 3 &
At the present level of technology, which of the above activities can be successfully carried out
by using drones?

a) Spraying pesticides on a crop field

b) Inspecting the craters of active volcanoes

c¢) Collecting breath samples from spouting whales for DNA analysis

Answer Options :

1)aandb only 2)band c only 3)aand c only 4)a,bandc

GTAIAtdT DI fae *haeer siffded srsie Riftey ' & e Fatd aieaTiTapR ffdfed

A ?

9) geATaes AVTAT THETAT Pt PRUIRITS! ST STIeh1IT AT ThIT RIS AT Terid
Fel TR g U gRIURAND AYUTRT 37T,

) TEREN TgTHad! 3D TRl ARSIMAR T UgTeR 8 JIcRIesI Ia=d.

3) gediHadrere fIfIE e fRR SheaHaR Jediaiial dedTeR SIsfifde dRUR - &uTRE,

8) YAPGERISR AT THgaadrd T Ao S1for SreaT YSHATER U Uid 3aUiR &TaurRe

HERTE IISTARRT ARRY HaT gauiar aralt : [ fasme / co
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Which one of the following statements best reflects the idea behind the “Fractional Orbital

Bombardment System” often talked about in media ?

1) A hypersonic missile is launched into space to counter the asteroid approaching the Earth and
explode it in space.

2) A spacecraft lands on another planet after making several orbital motions.

3) A missile is put into a stable orbit around the Earth and deorbits over a target on the Earth.

4) A spacecraft moves along a comet with the same speed and places a probe on its surface.

3) SRS, Sitdiew g SHarred, WRae g g9 hiewmht

Glefleehl PIUT AU / Jeard! Suug ufemT/Rele [T ST 1oRe STl ?

31) fafdre fSpurar gaudined FeiRiftherd SHTOT

q) fafere fSepmorean digaiqy gRaJg R Scasi

&) fafdre e S gsYrI aome

Tt S :

q) (1) wh R) (31) ST (&) wh  3) (3N), (@) (F) 8) () M (F) Fh
For the measurement/estimation of which of the following are satellite images/remote sensing
data used?

a) Chlorophyll content in the vegetation of a specific location

b) Greenhouse gas emissions from rice paddies of a specific location

¢) Land surface temperatures of a specific location

Select the correct answer using the code given below.
1) (a) only 2) (a)and (b) only 3) (a), (b)and (c) 4) (b) and (c) only

WTeflerdeh! PIUT 8T GPS THe™ aTiRel Sis» 2 ?

31) TS HiF JIRIT §) SfehT MRI=A %) Urer fied FRifd avor

Tt S :

q) (31) 3Mfor (3) B ) (31) AT () 3) () snfor () 8) (31), (3) anfor ()
In which of the following areas can GPS technology be used?

a) Mobile phone operations

b) Banking operations

c¢) Controlling the power grids

Answer Options :
1) (a) and (b) only 2)(a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

SR TETE HIS AR d16s (AeRIAR) Jedfiar Uigidel @R Wleiletidl Pior TR e 3ied ?
a) il anfor Afenem Rier e oM SRR} Bl 1ehdTd.
b) fayagia weema AT 3% erad.

¢) UlaR i TRE 8 .

d) gedieaT =g WRTIGR TRER 3RRT Ueh1el I35 e,

e) YAt UgredT ST HRMERIeT ST 37T T 2Teh.

f) SWEAT BT fahssid 8l Tehdrd.

g) YT Ucera ISUTT fmMTe effcdeg Sl AUNONT IRy U3 A1,

HERTE IISTAFT ARRY AT qauiar At - e fasm / ¢9
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gl IR :
9) (a), (b), (d) 3T (e) Heh ?) (b), (0), (e), (f) 3Mfor (g) Heh
3) (a), (c), (d), (f) 3Mfor (g) Feh 8) (a), (b), (c), (d), (e), (f) 30T (g)

If a major solar storm (solar-flare) reaches the Earth, which of the following are the possible
effects on the Earth ?

a) GPS and navigation systems could fail.

b) Tsunamis could occur at equatorial regions.

c) Power grids could be damaged.

d) Intense auroras could occur over much of the Earth.

e) Forest fires could take place over much of the planet.

) Orbits of the satellites could be disturbed.

g) Shortwave radio communication of the aircraft flying over polar regions could be interrupted.
Answer Options :

1) (), (b), (d) and (e) only 2) (b), (c), (e), (f) and (g) only

3) (a), (¢), (d), (f) and (g) only 4) (), (b), (c), (d), (e), (f) and (g)
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gt SR :

9) (31) Hh ?) (81) amfor (3) 3) (an) ST () 8) () 3T () Heh
Microbial fuel cells are considered a source of sustainable energy. Why ?

a) They use living organisms as catalysts to generate electricity from certain substrates.

b) They use a variety of inorganic materials as substrates. .

c¢) They can be installed in waste water treatment plants to cleanse water and produce electricity.

Answer Options :
1) (a)only 2) (a) and (b) only 3) (a) and (¢) 4) (b) and (c) only

Aic HieR' el weht arae vgRreT firesd.

9) R/ ATEDIDgT ARSI I I TR

R) BRI IGGUTHERTT UIsugch ~fiie digel AR

3) HICR-PRAY ATl e a0l

¥) st ERed gruft Hiex gFaur

‘Net metering’ is sometimes seen in the news in the context of promoting the ..........
1) production and use of solar energy by the households/consumers

2) use of piped natural gas in the kitchens of households

3) installation of CNG kits in motor-cars

4) installation of water meters in urban households

HTefieTdehl PIUATER Jralell &RT 311 Uil 3hSRIAT IR olde fHoseT ?
31) warERlel U 9) soifdep MR P) TER FARRIE o

Tt S :

9) (31) 3T (3) ek R) (3), (3) MO (P) 3) () Fh 8) (31) 3T ()
On which of the following can you find the Bureau of Energy Efficiency Star Label?

a) Ceiling fans b) Electric geysers c¢) Tubular fluorescent lamps

Answer Options :

1) (a) and (b) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

¥R Sterduiear Feufd, Wiefied! BIuR U/~ SRIsR 31/ 3ied ?

31) AR I/l IR ISHRTERIST U9 ATAIUARNATS! el SiTSs el MM AeHRASeT qu=aTat g,
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gt SR :

9) theh 3 ) Beh § 3) 37 3Ifr § g ) 31 fohar § AR
With reference to solar water pumps, cwhich of the statements given below is/are correct?
a) Solar power can be used for running surface pumps and not for submersible pumps,

b) Solar power can be used for running centrifugal pumps and not the ones with piston.

Answer Options :
1) aonly 2) bonly 3)Bothaandb 4) Neither anorb
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9) (1) h ?) (W) wh 3) (an) amfor (@) A ) () fobar (@) < TR
5)  With reference to solar power production in India, which of the statements given below is/are
correct?
a) India s the third largest in the world in the manufacture of silicon wafers used in photovoltaic
units.

b) The solar power tariffs are determined by the Solar Energy Corporation of India.
Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

R) dTeA TS g dleds
3) Tefmivr T gieem dEe
8) JToft YRAST T AHTE TS
4) VARV (IR< G fopms, RER), e, s
&) TET SNl G
©) TR g 31 et Aafer axem=
¢) foreror, ptered 9 A=IEe fawrT &anelt Haft s
Q) 9ieHt, Yids, Heliedled, JsaicdIed qaIsi™
90) STREA Mol ST 93T

99) UHH, PHEHCUTAT TASH

9?) THIRUI, TIITRI™

93) U FaRAUH

98) TFArCaHTetrot

9)  Wlefterddhl DU U™ sRIeR 3ied ?
37) YA Sdeied] JfdReh, PRI 1o sifdcard Areid.
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Which of the statements given below are correct?

a) Other than those made by humans, nanoparticles do not exist in nature.

b) Nanoparticles of some metallic oxides are used in the manufacture of some cosmetics.

¢) Nanoparticles of some commercial products which enter the environment are unsafe for
humans.

Answer Options :

1) (a) only 2) (c) only 3) (a) and (b) 4) (b) and (¢)

SENMGR fafdy Iedrerea fifdime aroRean St Srel IS gedhien 1 ulfchedssd Pral
e aimg. P17

37) O ATAIERUTT STHT 8% 2T ST aruft 31Ifor Al v e,

¥) O 31 IRIRIT YA e eI,

®) T goh JAshodTd I o H% AhdId.

gt SR :

q) (1) wh R) (87) omfdr (3) wh  3) (81), (3) NN (F) ) () MO () ek
There is some concern regarding the nanoparticles of some chemical elements that are used by
the industry in the manufacture of various product. Why?

a) They can accumulate in the environment, and contaminates water and soil.

b) They can enter the food chains.

c¢) They can trigger the production of free radicals.

Answer Options :
1) (a)only 2) (a) and (b) only 3) (a), (b) and (c) 4) (b) and (c) only
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